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RESEARCH MEMORANDUM

TOW~SPEED AERODYNAMTIC CHARACTERISTICS OF A
LARGE-SCALE 60° SWEPT-BACK WING WITH

HEIGH LIFT DEVICES
By Mark W. Kelly

SUMMARY

lLarge-scale tests have been made of a semispan model of & 60° swept-
back wing-fuselage combinatlon. The model was equipped with 25-percent-
chord, 36-percent-span, double-gslotted flaps; 25-percent-chord,
h3-percent-span ailerons; and 17.5-percent-chord leading-edge slats
having spans from Tl to 31 percent of the wing span. The wing had an
tions normel to the wing 0.25-chord line. Additional tests were made
with the double-glotted flap replaced by a split flap of identical chord
and span. Most of the Investlgation was performed at a Reynolds number
of 8.0 x 10°. However, some force dats are presented for a range of
Reynolds numbers from 4.0 X 10% to 10.0 x 10°.

Flow separation limited the linear range of the pitching moment of
the base wing to a 11ft coefficient of about 0.35. The double-slotted
flaps deflected 55° increased this value by 0.25, while the double-
slotted fleps used in conjunction with approximately Tl-percent-span
leading-edge slats extended the linear range of the pitching moment to a
1lift coefficient of 0.88.

INTRODUCTION

The results of large-scale tests of a semispan model of a L45° swept-
back wing equipped with double-slotted flaps were presented in reference 1.
This report contains the results of & serles of tests made of this model
with the wing sweep increased to 60° to determine the effects of double-
slotted fleps on the 1lift and static longitudinal stebility. This wing
wag also equlpped with leading-edge slats and ailerons. Data were
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obtained for wvarious comblnations of these devices. In addition, tests
were made with the double-glotted flaps replaced by a split flap of
identical plan form. Pressure data were obtained to determine the effect
of these devices on separatlon and aerodynemlc loading. In order to
make the deta rapidly availeble they have been presented with a minimm
of analysis.

NOTATION

b twice span of semispan model, feet

e local wing chord, feet
b /2

ol

mean serodynamic chord of wing (}; c2dy;L feet
o}

wice semispan 1ift
as

ice semispan drag’
as )

Cr, 1lift coefficient (%

Cp drag coeffleclent (%w

Cm pPitching-moment coefficient referred to 0.25T
twice semispen pitching moment
asc -

C; rolling-moment coefficient {[(semispan rolling moment, alleron .
deflected) - (semispan rolling moment, no aileron deflection)]/qu}

I lower surface of wing

P17 local static pressure, pounds per square foot

r free-gtream static pressure, pounds per square foot

q free-gtream dynamic pressure (gpvg), pounds per square foot
pVe

R Reynolds number —;—

twice wing area of semispan model, square feet

=

upper surface of wing

<

free-gtream velocity, feet per second
y spanwlse distence from plane of symmetry, feet

a angle of attack, degrees
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85 alleron deflection (positive downward), degrees

n absolute viscosity, pound-seconds per sguare foot

8¢ flap deflection (positive downward), degrees
MODETI, AND APPARATUS

The geometric characteristics of the model are given in figure 1.
The alrfoll sectlons normal to a line through their 0.25-chord stations
were NACA 64A010 profiles. The ordinates for this section are given in
table I. The 0.25-chord line of the reference sectlons was swept back 60°.
The wing had an aspect ratio of 3.5, a taper ratio of 0.45, and no twist
or dihedral.

The fuselage had a fineness ratlo of 5.5, and had a semicircular
cross section.

The wing had a leading-edge slat which extended from 0.22 b/2 to
0.93 b/2 referred to the wing 0.25-chord line as shown in figure 1. The
slat was divided into five spanwise segments each of which could be
extended independently. The slgt plan form is shown in figure 1 and the
slat cross section 1n both the extended and retracted position is given
in figure 2.

The model was tested with both a split flasp and a double-slotted
flap. Both flaps extended from 0.21 b/2 to 0.57 b/2 and hed chords equal
to 0.25 of the wing chord normal to the wing 0.25-chord line. The fore
flap of the double-slotted flap had a chord equal to 0.075 of the wing
chord normal to the wing 0.25-chord line. Details of the double-slotted
flap are given in figure 3. The Position of the fore flap was fixed when
the flap was deflected, but the main flap could be rotated sbout the
point indicated in figure 3 to give deflections from 45° to 60°. The
ordinates of the main flap and fore flep are given in tables II and III.

The wing outboard of the 0.57 b/2 span station was equipped with an
alleron heving a chord equal to 0.25 of the wing chord normal to the
wing 0.25-chord line. The gsp between the aileron and wing was sealed
with masking tape throughout the tests.

The wing was equipped wilth pressure orifices at 6 spanwise stations.
For the outboard five of these stetions the orifices were arranged along
the wing chords normal to the 0.25-chord line. The station nearest to
the wing root was skewed 15° from the free-stream direction. (This

d pmaan
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section was originally along a streamwise chord on the 45° swept-back
wing.) The spanwise positions of the intersections of the chords con-
taining pressure orifices with the 0.25-chord line are given in figure k4.
On station I all the orifices aft of x/c = 0.60 were underneath the
fuselage fairing or ingide the fuselage. :

A photograph of the model inagtalled in the hO- by 80-foot wind
tunnel is given in figure 5., The model was supported on a turntable

which was independent of the tumnel-floor structure, so that the aero-

dynamic forces and moments could be measured with the wind-tunnel six-
component balance system. The tunnel floor was used as the refleection
p}ane. The clearance between the fuselage and the floor wag spproximately
1/2 inch,

TESTS

Force and pressure datae were obtailned for the various model configu-
rations through angles of attack fram -8° to 27. 4°. Maximum 1ift wes
not atteined at o = 27. ho- however, structural limltations of the model
pitching mechenism prevented testing at higher angles of attack. The
tests were made at Reynolds numbers from 4.0 X 108 to 10.0 X 108 based
on free-stream velocity and the mean serodynamic chord of the wing. The
above range of Reynolds numbers correspond toc a range of dynamic Pregaure
from about 6 to 38 pounds per square foot.

The double-slotted flap was tested at deflections of 45°, 50°, 55°,
and 60°. The split flap was tested at deflections of 30°, h56 and 60°.
Most of the aileron data were obtained with aileron deflections of *10°.
However, some tests were made with other alleron deflections up to the
maximim obtainsble (+35° and -250) The outboard end of the leading-edge
slat was at 93 percent of the semlspan and the inboard end was varied
from 22 to 62 percent of the semispan. The deflection of the slat is
shown 1n figure 2.

CORRECTIONS
The angle of attack and drag coefficient were adjusted for the

effects of the wind-tunnel.walls by addition of the following corrections:

Ja¥s

0.30 Cg,

ACp = 0.0052 ¢p2

No ¢orrections were applied to the rolling-moment or pitching—moment
coefficients. : : :

T i
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No attempt was made to adjust the data for the effects of the
boundary lsyer on the tunnel floor or the gap between the fuselage and
the tunnel floor. Measurements reporited in reference 1 indicate that the
boundary layer on the floor Just shead of the model is about 14 inches
thick, while the boundary layer on the fuselage Just ahead of the wing
ig sbout 1 inech thick.

RESULTS

The results of the force measurements are presented in Pigures 6 to

to 20. An index to these curves is given In the following tables:
BASE WING
(ALL DEVICES UNDEFLECTED)
Figure To. Parameters plotted
6 o, Cp, Cm v Cr, - for various R
T C1 vs a - for various &g
WING WITH DOUBLE-SLOTTED FLAP
Figure No. Parameters plotted
8 &, Cp, Cm vs C}, - for various R
9 a, CDs; Cm ve C1, - for various &f
10 ¢, Cp, Cp ve C1, = for various &g
WING WITHE LEADING-EDGE SLATS
Figure No. Perameters plotted
11 @y CDs Cm ve CL, - with &1l slats extended, and
for various R
12 a, Cp, Cm ve Cr, - for various slat spans
13 €1 vs a - for various slat spans
14 C; ve o - with all slsts extended, for various B8g
WING WITH ILEADING-EDGE SLATS AND DOUBLE~SLOTTED FLAPS
Figure No. Parsmeters plotted _
i5 &, Cp, Cm vs Cy, - with all slats extended, for
various R
16 a, Cp, Cm vs Cy, - for various slat spans
7 a, Cp, Cp ve C1, - with ali slate extended, for
various &g
18 Ci; ve o - for various slat spans

-
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WING WITH SPLIT FLAP WITH AND WITHOUT LEADING-EDGE SLATS

Figure No. Paremeters plotted
19 &y Cp, Cpm vs C1, - for various &f
20 . ay; Cp, Cm ve CL, - with all slats extended,
varlous &f

The pressure data for the base wing, the wing with double-slotted
flaps, the wing with leading-edge slats, and the wing with leading-edge
slats and double-slotted fleps are given in coefficlent form in tables IV
to VII. ) S

The longitudinel characteristice for various alleron deflections,
glven in figures 10 and 17, are those which would be cbtained from a
full-span wing if both ailerons were deflected equal amounts in the same
direction to simulate flaps or elevators. The rolling-moment coefficlents
presented in figures 7, 13, 1k, and 18 are approximately those which
would be obtained from the full-span wing If one alleron were deflected
while the other was held neutral.

SUMMARY OF RESULTS

The data given in figures 6 to 20 and tebles IV to VII may be sum-
merized as follows:

1. For Reynolds numbers from 6.0 X 10% to 10.0 x 108, there was no
slgnificant change in the aerodynemic characteristics of the model.
However, at a Reynolds number of 4.0 X 10%, the breek in the pltching-
moment curve occurred at lower 1ift coefficlents than those attalned at
the higher Reynolde numbers. The remaining discussion pertains to the
data obtained at & Reynolds number of 8.0 X 10°® only.

2. Separation ss indlcated by the pressure data first occurred on
the base wing near the leading edge of the outboard sections at a 1lift
coefficient of approximately 0.35 (a = 8°). This produced a large
increase in the rate of drag rise and a stable break in the pltching
moment which, however, was followed@ by a lerge unsteble break at a 1ift
coefficient of ebout 0.50 (a = 11°).

3. The separation on the wing equipped with double-slotted flaps
deflected 55° was delayed to a 1ift coefficient of about 0.60 (o = 6°).
Separation occurred on the wing with split flaps deflected 60° at a 1ift
coefficient of approximately 0.45 (o = 7°).

4, With the leading-edge slats extended the initial stable break
in the pitching moment was eliminsted. The 1lift coefficlent at which

AEERAGREL..



NACA RM A52Alka Rl T

the finsl unstable break in the pilitching-moment curve occurred increased
with increasing slat span.

5. With all the leading-edge slats extended and the double-slotted
flap deflected 55C the adverse effects of separation as indicated by the
force data were delayed to & 1lift coefficient of approximately 0.88
(oo = 12°). However, the pressure dats indicated that separation had
occurred on the outboard portion of the slat at & 1ift coefficlent of
about 0.8.

6. In all the configurations tested the f£inal large change in the
pitching-moment curve was in an unsteble direction. Also in each case
the loss of nose pressures indicated that separation inltially occurred
near the wing lemding edge and outboard of the mean aerodynamic chord.

T- An alleron deflection of 10° gave a rolling-moment coefficient
of about 0.006 at 0° angle of attack. The effect on the rolling moment
coefficient of extending the leading-edge slet was so small that no con-
sistent trend could be measured.

Ames Aeronautical ILaboratory
Nationsl Advisory Committee for Aeronsuties,
Moffett Field, Celif.
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Twist. NACA RM A51D18, 1951.
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TABLE I.- COORDINATES OF THE NACA 64A010 ATIRFOIL SECTION

[Stetions and ordinates given in percent of airfoil chord]

Station Ordinste

0 o]
-5 -801"
.75 .969
1.225
1.688
2.327
2.805
3.199
3.813
L.272
1‘-.606
4.837
%.968
4,995

. 4.89k
L.684
4.388
h.021
3.597
3.127
2.623
2.103
1.582
1.062

.5kl
.021

L]
N
\
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'_.I

L.E. radius: 0.687
T.E. radius: 0,023

“‘Iﬂsﬂ!”
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TABLE IT.- ORDINATES FOR 0.25-CHORD FIAP

- [Stations and ordinstes are referred to the airfoil chord line
and are given in percent airfoil chordl

Stations Upper ordinate Lower ordinate ]
T5.000 -1.000 -1.00
75.150 -0371 -1.557
75.295 -.076 ~1.712
75.§§7 .268 ~1.956
T5.882 535 ~2.085
T6.17T7 +TOL -2,179
T6.765 1.057 -2.289
TT.352 l1.272 -2.320
T7.942 1.4k -2.304
78.530 1.496 -2.260
T9.T05 1.594 -2.136
80.882 1.637 , -2.003
82.060 1.648 -1.880

. 83.235 1.630 -1.762
84.410 1.583 ~1.641
85.000 1.550 -1.582
- 86.250 1.453 -1.453
90.000 1.062 -1.062
95.000 +5hL -.541
100,000 .021 -.021
L.BE. radius: 0.95 (center on flep chord line)
T.BE., radius: 0.023

“‘ﬂ‘ag!" .
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TABLE ITI,- ORDINATES FOR 0.075-CHORD FORE FLAP

[stations and ordinstes are referred to the fore=flap
chord line snd are given in percent airfoil chord]

Upper Lower
Station ordinate ordinate
0 0 o]
A2 .95 =93
.83 1.31 -1.14
1.25 l1.52 ~1.20
1.67 1.67 -1.11
2.08 1.72 -.85
2.92 1-71]- --36
3.75 1.64 -.02
4,58 1.43 .18
5.42 1.13 27
6.25 .5 25
7.08 .28 ki
T.50 0 0]
L.E. radius: 1.20 (center on
flap chord line)

“!ﬁ:ﬂ!”



-

NACA RM AS52ATha -~ SR 11
TABLE IV.- TABULATED PRESSURE COEFFICTENTS! FOR THE BASE WING.
R = 8.0 X 10°
a = 0.0 c = 4,0
Orifice Orifice
Location| STATIONS Location] STATIONS
Percent Percent
Chord I A B c D E Choré I A B [+ D B
o.18 0.13 0.22 0.22 .24 0.2 Q =0.54 ~0.79 =0.94 -0.88 0,80 =0.,69
Q.25 U <07 <01 «18 15 «16 «13 0,25 T - .90 =l.,8] - .82 -1l.22 ~1l.16 =-1,04
L 08 .08 «05 — +05 —— L «10 .06 «04 —— 04 (o]
0.8 U - 04 «07 .08 +08 06 0.8 U - 82 - .88 <1,06 -1,10 =-1,08 -~ .94
L o - o13 = 05 = 07 = 02 Q L 18 «08 « 17 «13 217 19
1.0 U - 035 -——— - .01 <01 .02 = .01 1.0 U - 84 -— - .88 - .94 - .80 - .88
L - 056 ——— - 08 - .08 = 06 =~ .04 L 22 — R4 28 22 +22
15 U = 0B = u04 =ee - ,028 O - <04 18 U | = .56 = (62 === - ,68 -~ ,64 - .91
L =~ = W10 = 07 = 08 =~ 05 e=~ L — ¢l === «20 «20  wme
2.5 U - ,06 = .06 —— - 04 - 04 - 06 2,5 U - 50 =~ .36 -——— - .66 - ,56 - .62
L - .08 - .10 - .08 - .08 - 06 - .0 L <18 «16 «20 <20 «£20 12
3.6 U -~ 08 - 08 - 07 - .04 - .08 = 04 3,86 U - 443 = 49 - Bl -~ 47 - .49 - 39
L] = o088 w==e = 08 o 08 = ,08 === L old  e-= .18 «17 18 0O
5.0 U = .08 - .08 - ,07 = 06 =~ 06 =~ .08 5.0 U = 87 = A5 - 44 - .39 - .40 - .38
L| = .08 -~ .10 =-. - 07 - — L .12 .12 16 .10 23 «34
7.5 U - 08 - .10 -~ .07 ——— - .08 - .06 7.8 U - 30 - .38 - .34 —— - .36 - B2
L - .12 - .08 —~—— - .08 - ,06 - ,Q7 L «08 .08 —— 13 13 ol4
0.0 U] - ,08 = .11 = 07 - 06 =~ ,07 -, 10,0 T | = 88 = ¢35 = 31 = .30 = .38 = .50
L[ « o08 wee = 11 « 06 === — L W06  e== - 0L «10 === ——
15,0 U - .11 - .12 —— — - .06 - .08 15,0 U «26 -~ .57 ——— —— - .16 -~ ,20
7,6 @ - 08 - .13 —— —_— ——— —— 7.5 U - .£4 - .28 —-— —— —-—— —_—
0 T | = 409 = 411l == « 08 = 06 wn=~ 20,0 U | = .25 = o8 === o« 24 = 88 «=w
L - .04 - .12 ——— - 08 =, - .08 L - .02 — +05 04 «04
30,0 U - .10 - .14 - ,15 - .09 - .,10 - .07 30,0 T - .22 = 26 <~ ,24 = ,20 - 22 - .16
L -1 - .14 - ,12 - ,10 - ,08 - .08 L - 02 - 06 = 02 o] - 0L - ,01
40,0 © - ol2 = 16 -~ .12 .~ 08 - .08 - .09 «0.0 T - W22 - 24 -~ 20 - .17 - .17 - .15
L - ol3 - 14 - .12 - ,08 - .08 -~ .09 L - 04 - .08 - 02 o (o] - 02
50.0 U - 14 - = A3 = 07 - 07 - 07 80,0 U - 421 - - .18 - ,14 - ,13 - .11
L| = 13 = o153 - .10 ~ ,07 =- .08 - .08 L| - .06 - .08 0Ol - .02 - .02 - ,08
60,0 U -,l2 = .12 -~ ,06 —-———— - .03 - 04 60,0 U - <.1l8 - .18 - .10 —— - 04 = 03
L - o1l - L1l - .08 - .03 - .04 =~ .04 L - .08 ~ .08 - .02 .01 o] -0
70.0 U — - o416 — - 508 —— - <02 70,0 U —— - +20 ——— - .09 - - 03
L — - Al - 04 — - 02 - .05 L ——— - 410 - 04 — 02 - 02
75.0 U — —— -— = 08 - .02 - .02 73,0 U —— —-— -—= = 0 - 04 - 02
80,0 T — - o100 =~ 05 ~ 04 . - o 04 80,0 U —— - «15 «14 - ,08 0 - 04
L —— - 10 - ,03 07 - 02 — L — - .08 .10 - .04 .02
85.0 U ——— - .08 0L .03 +O1 — 85,0 U — - o11 - .01 Q o} —
L ——— - .08 - ,00 - .01 — L ——— - «08 - 02 0 «03
80.0 U —— - .08 o - .03 +03 02| 80,0 U -— - <11 Q - 04 02 .02
L —— - .09 o} - .01 02 -— L —— - .08 02 - .02 .03 <05
85,0 " O -——— - .08 02 - .03 04 +03 85,0 U -— - 08 .02 =~ ,04 .02 .02
L - - .08 —— - 01 o4 —— L -— - 08 — - O 04 .06

lpressure coefficlenta tabulated

sre defined.ss (pp-p)/a




12 GRS R NACA RM AS2Alhs
TABILE IV.- CONTINUED
¢ = 8,1 a 2 8,1
Orifice Orifice
Location STATIONS Location STATIONS
Percent Percent -
Chord I A B [ D E Chord I A B c D E
(o) [») ~2,58 =3.T0 «4.,753 ~4,285 ~4.37 =3.72
0,28 U 0,26 U | -2.83 =-3.,62 -3.290 -4.186 -4,01 -Z.69
L L] - .72 -1l.,11 -1.34 ——— -1,.28 ———
0.6 U 0.5 U | -2.18 ~2,61 =-3.06 =-3.30 =-3.06 -2,74
L L| = «88 = .66 = .60 - ,62 - .82 « .47
1.0 U 1.0 T | «1eb6 =w~ -2,25 -2,24 2,08 =~2,19
L L .06 m—— = 06 - .04 -~ 10 - .09
1.8 T 1.5 T | =1.32 =1.58 === -1.76 -1.68 <1.68&
L L — 02 <12 .08 06 ame
2.5 U 2.8 U | -1.08 =1.27 == «l,51 =l.28 -1.P%
L L .21 17 .22 Pyl «2L 12
3.5 U 3.6 U | - .89 =1.06 ~1},08 -1,06 =-1,08 =~ .04
L L 22 — «24 24 24 ==
5.0 U 5.0 U ——— - .88 ~ .88 - .86 - .89 - .B2
L L 22 «21 24 .24 s R
7.5 U b U | = o857 = .72 = .88 we= - 76 = 67
L ; ) L .19 «l8 - 22 .24 «24
10,0 U | = 38 « 47 = 43 = .43 = 44 - .41 10,0 U | - .50 - .64 ~ .60 - .58 -~ .48 - .68
L 13 - «16 I —-— L R .20 2L ==- «08
15,0 U} « 34 =« (38 «a= e = 24 - .28 15,0 U] = .43 - ,50 =w- ——— = 56 - .40
17,6 U! = .30 = ,35 === — -——— . 17,6 U [ = .38 = 45 === —— — —
20,0 U | = 29 « 54 - = o3l = W30 e 20,0 U | = .36 = .44 === = 41l - .38 wwa
L <03 06 —ee . .10 .10 7 . 7,10 L «06 208 === «15 14 ===
30,0 U] = .26 =« .30 = ,39 = ,28 < .28 -~ .20 50,0 U | = .30 = .38 = .36 = 32 = ,32 - .26
L 03 O .04 08 - 08 02 L i) .03 09 .10 1L «04
40,0 U] = 24 - .28 - ,22 - .21 - .20 - .le 40,0 U | = 88 = .33 = 26 - ,256 = .25 - .21
L [+] - 0% 0% 04 <04 08 L «04 08 .08 .08 04
50,0 U}l - 24 ~om - 80 - 16 - .15 = .13 50,0 U | = .27 == ~ 25 = ,18 = 16 =~ .15 *
L| - .02 - ,04 02 .02 02 .02 L .02 - ,01 04 Q4 08 .03
60,0 VU - .20 - ,20 - .11 — - 04 - ,05 60,0 U - 25 = .23 - 13  ee- -~ 05 ~ 0%
L| = .03 - ,04 .01 04 03 .04 L 01 - .02 .03 .06 06 +08
70.0 U ——— - 20 ——- = 10  =m= - 03 70,0 U ——— = 025 == o« (1l =e- - 0B
L —_— - 06 - 04 —-— .04 L — - .04 «05 — 06 «0L, ‘o
73,0 U | =eeme= —— = 10 = 04 - .02 73.0 U — —— o= = W10 = 06 - T4
80,0 U -——— — o= = LQ7 = 0L «U3 80.0 U -—— — -— ~ 06 - 0T - .04
L ——— = W04 U4 ell = .03 .03 L -—— = .02 <04 12 - .04 -~ 03 e
85.0 U —-— = .11 0l = 01l === 85,0 U —— = 10 - 03 - Ol —
L m——— . 04 04 - 0L 01 <04 L —_—— = 04 04 - 02 08 - J04
0.0 ¥ —— - ,10 01 "~ ,04 02 .03 90,0 U —— - +10 o - 05 01 - 01
. L —— - .06 .04 =~ .01 <04 .06 L =—— = ,04 04 - .02 06 - 04
85,0 U —— - .08 03 - 04 .04 .04 85,0 U -—— - 410 02 « (05 02 - 0%
L ——= = 06 === = .01 .06 08 L ~ee = 04 == - 02 . - o .
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TABLE IV,- CONTINUED
ac = g, a = 10.1
Orifice Crifice
Location STATIONS Location STATIORS
Percent Percent
Chord I A B [+ D B Chord I A B c D E
[s] -3,06 -4.86 -8,88 =~5,30 -~5.,02 =-2.50 Q -5.86 -5.56 =5.16 <~1.,43 -1.34 -0,70
Q.25 U| -3.32 -4.38 -4.01 -5.05 -4.21 -2,80 0,85 Ul -4,05 -~-4.95 -3.42 <~l.26 -1.08 -~ .62
L| = .98 =1.55 <=1.,8Q0 @w-= 1,58 —_— L] -1.37 -2.00 -1.82 — - .58 _—
0,6 U| -2.44 =3.15 =3.59 =373 =-3.28 =~1.78 0.5 U] -2.88 -3.47 -2.82 =~l.22 -1.08 - .58
L{ = .44 = .96 = 86 =~ .83 - .84 - .41 L| = .68 ~1l.20 = .83 = .41 - .27 - .06
1.0 U] -1.77 —— -2,57 ~2.58 =-2.,15 -1.58 1.0 T| -2.08 ——  =2,06 +~l.18 <1.28 -~ .EO
L] = 028 === - . - .18 - .18 = .06 Ly - .12 —_—— = 23 .03 .03 12
1.5 Uj =1.48 ~1.84 ——— «l.,88 -1.,72 -1,3%9 1.6 U] =1.72 «1.96 —— ~l.16 =1,13 =~ .42
L| === - .07 06 < 01 08 e=- L o= - .16 03 <11 »11 ———
2.5 U] =1.37 -1l.46 e ~l.45 -1.38 -1.32 2.8 U| ~1.34 -=1.43 — =1l.17 - .82 -~ .41
L <21 14 .20 .16 .20 .10 L 18 <12 .18 .22 .23 «14
3.6 U[ = .97 =1.,20 ~1.,228 -1l.19 <~1.27 -l.20 3.5 U] ~1,11 -1.38 -1,40 <~1l,18 -~ .76 = .57
L «24 — .22 .22 L5 | — L 24  —m- «23 «25 .25 —-—
5,0 U| - .78 =1,01 =-1,01 =l.02 ~1.,28 =1.31 5.0 TU| = 90 =1.26 =~1,47 -1,16 - .73 - .54
L «25 .22 24 «23 -38 -—— L .26 24 +25 <25 » 31 —-—
7.6 UVl - 82 - .82 - .80 —— - .78 =1.16 7.8 Ul - .72 <=1.07 -1.39 ——— - .78 =~ .53
L «20 20 —— o2B .26 .25 L .22 «28 — «26 .25 «26
10.0 U| - b4 - 72 - .70 = .73 - .68 -~ .98 10,0 U| - .62 - .88 -l.18 =~l.22 - .78 ~ .52
L «20 —_— .21 235 —— — L «21 — 24 . ——— —
15,0 Tf - .46 - ,56 -— ——— = (48 -~ .64 i5.0 O} - b2 - .58 —-— — - .61 -~ .52
17,5 U] -~ .42 - .49 —-—— ——— e - 17.5 G| - .46 - ,51 ——— -— — ———
20,0 U] - .39 - .48 —— - 45 - 44 —— 20,0 T| - .43 - .50 —_— - .86 - .88 —_—
L .08 w11 -— «17 .18 » L4 L Q7 w14 —— .18 .16 «168
30.0 U| ~ .32 - .40 - .38 - .54 - 32 ~ .28 30.0 Ul - .36 - .41 - .40 - .48 - B4 -~ .66
L .10 .08 .09 12 «13 06 L o1l .09 .12 <14 12 ~08
40,0 Tl = ,30 - T4 - .30 = .26 - .23 =~ .23 40,9 T] -~ .34 - 35 - .30 - .32 - ,51 - .86
L Q6 .02 07 «09 <10 05 L 06 08 .09 «10 00 - .06
50,0 U| ~ .28 — - W26 = 20 = .17 « .16 5G,0 U] =~ .32 = - 226 —— - .26 ~ B8
L «03 +O1 .04 .07 .08 «04 L <04 03 07 07 .08 - .05
60,0 Tl ~ .24 - .24 - .15 — - 04 -~ .03 60,0 T} ~ 268 = .84 =~ .16 = .07 - 08 - .12
L .02 0 «03 <08 .08 .05 L 02 02 «05 .08 ,08 -~ .06
70,0 T| o= - .25 — - .12 ——— = 03 70.0 U — - .24 —— - .12 —— = .19
L{ =-- - .02 .04 — 08 O L| = [s] .06 — £6 - .02
73.0 U — — — - 10 - 06 - .05 730 Tj == ——— -— - 410 - ,07 - .16
80.0 U - ——— — - 06 - .02 - .08 80,0 T —— —— — - 08 -~ ,02 - ,08
L =—- - 0L 05 A3 - 04 «03 L —— 4] +06 14 - 08 .04
85,0 U —-—— = 18 = 04 = 0L - 02 e=- 86,0 U — - .14 -« 06 = 02 = 0% =-a
L —— - .02 04 - 0L .03 «08 L ==~ - .02 «0Q4 - 0L 02 «06
80,0 U —-— -0 - 02 - .04 90.0 T — - .2 - .02 - ,06 - ,01 - .01
L| === = .03 04 - 01 +04 04 L| == - .08 04 - 01 .03 <08
95,0 U -—— = 08 . - 04 c 95,0 U] == - .10 s} - .06 - ,01 .02
Ljf ~-—= - 04 ——— - ,01 «O4 +04 L] e== - .0§ — - 0L .03 .08
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TABLE IV.- CONTINUED

a = 11.2 a = 1e.2
Oorifioce . Orifice
Locatlon STATIORS Locatlon STATIORS
Percent - Percent
Chord 1 A B c D B Chord I A B c D B
o} -4,59 =~3,18 «1,16 -0.74 ~0,71 =~0,34 Q =5.56 <=1.94 ~0,98 ~0.58 -0.54 -0.24
0,26 U -4,70 =2.,80 - .94 =~ .68 =~ .58 =~ .29 0,26 U] 6,69 =-l.44 - .82 =~ .58 =~ .44 - .21
L] «le76 =1,54 = 70 «m= = .32 sa=- L| -2,28 ~l.24 -~ .68 wm—— = 26 —
0.6 U| -5.28 =2.00 - .84 =~ .87 =~ .59 =~ .e8 0.6 U =3,8]l ~l,40 =~ .8& = .58 = .44 - 19
L - .94 «1L,06 =~ .34 - .24 - .10 .05 Li =1l.,26 « .88 = .34 =~ .23 = .06 .08
1,0 T | «2,32 ——— -~ 9% - .66 - .68 -~ .,PB 1.0 U] -2.64 —— - .04 = 68 =~ .B1L - ,20
L| = «26 ——— 01 0 .09 +10 .16 L] - .41 ——— - .00 09 12 .18
1.6 U «l,90 =1,74 -—— - .66 - .86 - .28 1.6 U] -2.1g 1,32 —— - 88 = .51 - .
L{ ==e « .11 W16 © .15 el e L| o= - ,07 14 .16 18 e
2.5 U] =l.48 <=1,74 =w~= - .87 =- ,568 - .28 2.6 U| =-1.63 ~1.36 wue = 58 - 45 -~ ,19
L «1l4 +12 .24 .24 .26 +15 L 11 «l4 «23 .24 -27 .16
3.5 U| -1.,228 -1.78 =~ ,98 =~ .67 - ,50 - .28 3,6 U| «1.40 «=1.39 = .90 = .58 - .42 ~ 19
L 32 == .26 +27 o7 —— L 20  ~-- «26 .28 .28 —
5,0 U] -1.02 ~1.81 -1.02 .~ .68 = .48 - .26 5.0 U] -1,28 -1.42 - .92 = .58 = .39 = .21
L .24 25 .28 .27 o33 e L .25 .26 .26 .28 oS4 -
F,6 U} - .86 -1,80 -1.086 «»= = ,BO, - .20 Te5 U| =1.10 =1.47 = .94 === - .42 - 21
L .23 W85 eme 87 .26 .25 L .28 . — .28 .28 .
10,0 U] = .72 =1,70 <l.,14 =- .73 ~ .50 - .30 10,0 U = .82 «1,60 «1, 01l = .63 = .42 =~ .22
L e28  =-= .25 25 e -— L «OR —— «86 2R —m- —
15,0 U} « 67 =lel0 we- e m 0B - (30 16,0 U) ~ .62 =L.70 o=- ~-= = ,46 - .22
17,5 U] - .80 - .66 —— —— _— —_— 17,8 T| = 668 =1.60 == —— —e— ——
20,0 U{ - .44 - .58 wee w2 86 = 54 - 0.0 Ul -~ .48 1,42 - - .74 = .48 ——
L .09 «18 ——— «20 .18 156 L 2 18 — .21 «20 .18
30,0 T -« (39 - .48 - ,94 -~ .88 - 656 -~ .40 J0,0 U| ~ 44 - .34 =-1.46 - .92 - .54 - .30
L «15 «1X .15 14 14 08 L .18 «13 .14 .16 «16 .08
40,0 U| - .36 « ,37 ~ .19 '~ .98 =~ .82 =~ .46 40,0 U] = ,40 = 30 = ,75 =-1,11 - ,66 =~ ,
L +10 .08 .12 . L1l P h .06 L +14 «10 Jd2 .13 B .
50,0 U| - .34 — - .18 - 77 = .92 - .60 60,0 U] - .38 — - 20 @l 08 = 88 =,
L .08 .08 .09 .09 .08 «04 L e «Q7 09 .10 ] 08
60,0 U] - 28 - .28 - .l0 ——— - .18 =, 80,0 T] = .30 =~ .28 =~ 06 — - .24 - 32
L .08 «04 +07 <10 - <04 L .08 <04 Q7 «10 0 02
70,0 U — - W2 —m—— - .14 - - 70 70,0 U ——— ~ .26 - - .37 -— - 66
Ll === o .08 wm= 08 = .01 L| o= .02 08  we- .08 - 04
73.0 U ——— —— — - 10 - 37 - .82 73.0 U —— - 30 - .88 = ,78
80,0 Ul =-= — —— - 02 12 = B0 80,0 U === —-— - = 18 -",40 - .32
L —— .02 Q8 A6 - 18 -~ 01 L —— 03 08 - 16 - .18 - 08
85,0 U ——— -, 14 - ,01 ° .02 - .08 -—— 85,0 U -— - <17 o - .05 - .30 ——
L| === 0L 08 = ,02 .06 - ,0L L] === «01 .06 - ,03 04 = ,08
90,0 T} w== = ,12 = .01. - .10 01 - L,58 90,0 U| ==~ = .14 - ,0L = ,14 = ,18 - 52
L —— [+ .06 = .02 L7 - .03 L —— - 02 . - .03 06 -~ .12
86,0 U] «== = ,09 L1 = 0 J04 - .24 85,0 U| === - .10 0L - 14 - 0P - .64
L - - .02 —— = 02 .08 = .04 L - - 04 ——— - 03 04 - .18
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TABIE IV.- CONTINUED
o m 14,28 c = 18,2
Orifice Orifice
Location STATIONS Location STATIONS
Percent Percent
Chord I A B c D E I A B [ D E
Q ~6,68 ~1.49 -0.86 -0.46 =0,36 -0.26 o =3.78 =le47 =0,70 =0,40 =0.32 =0.,30
0,25 U] ~6.00 -1.20 - .75 - .41 - .28 - ,p2 0,85 T| -2,96 -1,25 - .64 - .34 - 27 - .28
L[ -3.26 =1,25 - .76 ———— - .18 — Li -3,14 =-l.62 -~ .77 — - .24 -
0,8 T} ~3.70 «1,17 = ,78 = .41 - .30 - .21 0.8 U] -2,801 =-1,21 =~ .66 =~ .34 -~ .28 - .26
Lj=~l.,95 =~ .85 -~ .43 - .20 - .18 .05 L] =2,08 <=1,26 = .47 « 25 =~ .08 - .05
1,0 Ul ~-2.78 — - JIT = 4l - 3l - .22 1.0 Ui -2,91 -— - 68 - .34 - .28 - .27
L]~ 82 === = 07 «08 = .03 14 L= .96 =ae - .14 .05 .08 .08
1.5 U| -2.63 -1.,14 ——— - .41l - 30 - .24 1,5 U -2,95 -~1.18 —— - .34 =~ .28 - .28
L ——— - .13 .10 +16 Jd2 -—— L —— - .28 «06 «13 .14 ——
2.5 U[ -2,58 =-1,17 — - L4l - 28 - .22 2.5 U] -3,04 =-1.21 — - 34 =~ .28 - 27
L} - .01 «13 .21 .24 17 14 Ll - .07 «04 .18 22 24 12
3.5 )| -2,58 -1.,20 - .82 - .41 - .28 - .22 36 U] =3,16 =1,24 - .69 = .35 -~ .28 - .27
L «15 — «24 ~27 26 —— L 14 —_— «24 «26 27 —
B0 T «2,47 =1.24 - .84 - 42 - .28 - .25 5,0 T| =35.456 =1,86 = .70 = ,35 =~ .27 - .28
L 26 <27 .27 .28 86 wea L .28 25 .28 «29 .32 —
T8 U| -2.02 ~1l.29 - .BS —— - .28 - .24 7.5 U] —4,01 -1l,28 - .73 —— - .29 - 30
L «29 .28 ——— .28 26 24 L « 54 0 -—— «30 «29 .27
10,0 U| -1.,46 =1.38 - 90 =~ .45 - .28 - .25 10,0 T =3,76 «l.34 =~ .78 = .39 =~ .28 = .30
L 830  wem .88 BT - — L oT4 - - .49 o300 e -—
15.0 T)] - ,75 =1.47 —— — -S4 - .22 15.0 U] -1.58 -1.35 —— — - 287 =~ .28
17,5 U - .65 -1.80 — - —— ——— 17,5 U] ~ .86 =1,37 —— — —— ——
20,0 Ul - B8 a2.12 ——— - 54 - .32 ——— 20.0 U] - .72 -1.53 —— - .45 - .34 —
L 14 2% === .22 17 14 L 38 «27 —-_— 24 «22 .18
0.0 U] - .80 <1,17 -1.,55 =~ .58 - .37 - .28 0.0 U] = .52 «2,08 = .92 = 48 = .57 = .34
L 24 <17 .18 .16 +12 «07 L «19 22 22 .18 .16 08
40,0 T| - .46 - .26 -1.,44 - .68 - .36 - .32 40,0 U] - .48 <=1,21 =1.26 -~ .51 =~ .38 =~ .36
L .19 <14 .15 « 13 .09 <03 L 34 .19 .18 <14 .12 .06
50,0 U] - .42 — - 57 =1l.06 - 44 - 33 50,0 U{| - .45 —— =1l.30 - .64 - .43 =~ .38
L +15 .10 .12 .09 D4 Q L .28 «16 «15 08 +08 «03
60,0 U} - .38 =~ B85 - .54 —~— - 02 - 34 60,0 U| - .38 - ,28 - .88 — - .38 ~ ,38
L 12 08 Jd0 .09 <03 - 0L L 24 .13 «12 .06 .02 08
70,0 U — ~ +26 -— - .84 ——— ~ 45 70,0 U] - .11 - .X - - .85 —_— - 45
L ——— L4 .11 —— Q02 - 08 L .18 .08 <12 — - .02 ~ 07
73.0 U =— - JIT - 72 « .60 73,0 U| «=e — m——— = 80 ~ 56 ~ 46
80,0 U -—— — -—— = 54 = 58 = 34 80,0 U ——— —— — - .78 = ,87 -~ .38
L —-—- .04 .10 W14 = .39 - .13 L ——— 07 <08 06 = 35 - 09
85,0 T —— - .15 02 - .32 - .58 —— 85.0 U ——— - .15 = .82 ~ .69 - .74 ———
L -— .02 08 - 04 -~ .12 - 16 L —— .05 06 - .08 - .21 ~ .12
30,0 U —_— - .14 08 = 24 - 56 = 75 90,0 U — = Wdb = 414 - FE - §8 ~ 57
L —— - 0% JOF - 04 - .14 -~ .22 L —— <04 WHh ~ ,08 - .26 - .16
96,0 U —— - W18 Of - 24 -~ .52 <1,068 5.0 U — - ol2 = 08 = 36 =1l.24 - ,59
L — - 03 —— - 04 - ,82 - ,38 L — —— = .08 = ,40 - 22
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TABLE IV.- CONCLUDED
a® 22,3 a = 27.3
\
Oriflce Orifice
Lacatlon STATION3 Location STATIONS
Percent - PP P er— Percent
Chord I A B [+ D B Chord I A B [ D E
o] ~3,67 =1,20 =-0.686 -0.40 «0,38 =0,34 ] ~2.76 -1,17 ~0.66 -0,60 -0.48 -0,42
0,25 U| =3,12 =1,07 = .60 - .36 - .34 - .32 0,26 U{ =2.61 =l,10 =~ 61 =~ .46 = .46 =~ .40
L| =3.,78 ~1,50 «~ .82 w-= - I - L] =3.50 =1.60 = 90 == =« ,57 ==
0,5 Ul -3,14 1,04 = .63 = .36 - .34 = .30 0.6 U] ~2.6) =-1,08 -~ .62 ~ .46 =~ .46 =~ ,389
L| =2,68 =1,32 = 56 = .36 = ,22 =~ ,18 LI -2.,76 =-1,58 -~ .78 ~ .55 - .42 - ,32
1.0 U| ~5,18 === - .82 - .36 - .38 - .32 1eQ U| =2,68 === « 68 « 46 = 46 -~ 40
L 1.5  ww=- - .20 -,01 DO 02 L] «1.69 === « .32 = .15 = .15 =~ .10
1.5 U| -3.,23 ~1.,00 ——— = 36 - 36 - 54 1.8 Ul =2.72 «1,08 ~=w = .48 =~ ,46 - .40
L| === = ,3 0 0% o098 mem Ll === = ,66 = ,10 - ,02 = ,01 «--
2,6 U| «3,32 ~1,08 === = .36 - .36 - .52 2.8 U =2.78 =110 w=—= = 47 - .48 - .40
Ll - .24 . .15 « 20 .82 «13 L| - «40 =~ .15 «10 13 «16 .09
3.5 U «3,36 =1,06 = ,68 = .37 « 35 =~ ,30 3.6 T -2.81 -1.14 - .68 - .48 - .48 -~ .39
L .04 ——— .22 «26 «28 me- Ll = 07 = o - .22 .24 -——
6.0 Tl -3,3% =1,20 - .71 = .38 = 35 = .53 5,0 U| -2,88 -1,18 -~ .68 = .48 - ,48 - .41
L «24 .26 26 29 - L .18 .18 21 «26 e30 ==
Teb Tl «3.95 =L 13 = 75 om= = 37 = 34 7.8 U ~2,97 =1,18 =~ .69 ——— = 49 - .42
L 36 34 - 32 «32 « 30| L 34 e32 == «33 33 « 32
10,0 V| =4,380 =1,18 = "7 « .44 =~ .37 -~ .38 10,0 U] . =-3.04 =1.,21 - .T2 =~ ,62 =~ .49 « .45
L 42 —— «36 32 - — L 42  --- 38 .54 -—— —-——
15,0 UJ =3.86. =1,80 . === sme = .32 - 34 16,0 U -2,86 <=1.256 --- ——— = 4T = 43
17.6 U| =-2,34 1,24 ——— — —— — 17.6 U| -2,80 -1.26 —— —-— — —
20,0 U} «1l,69 <=1.34 ===~ - .49 - 42 - 20,0 T| =2,66 =1l 30 === « .56 = 62 =~=
L .24 .36 - .28 26 23 L .28 «37 == 34 « 3L .28
50,0 U| ~ .74 ~1,64 « .90 - 51 =~ .46 - ,39 30,0 U| -l,87 -1.40 - .80 - .58 -~ .54 = .48
L 4L «SQ 25 22 <21 <12 L .49 « 3B «31 28 .27 .18
40,0 U ~ .62 =1,63 = .98 = 6B = .47 ~ .10 40.0 Ul -1.24 =~1.40 =~ 86 - ,62 =~ .65 =~ .46
L 36 « « 20 17 16 12 L 44 «32 .26 «23 .22 .18
60,0 U[ - .58 - =1,04 ~ 828 ~ .50 =~ .10 50,0 Ul = .84 ow=  « ,98 « 66 = BE = .43
L 32 «23 «16 .10 1o .08 L «30 .28 «20 .16 .16 14
60,0 U] = 47 = 82 = 96 === = 42 = 5 60,0 T| = 74 =1,08 = .90 ow== = ,49 =~ ,38
Nog «25 «20 .10 «Q7 .08 07 L .52 «24 .14 .12 «11 .12
70,0 U| === = .45 m—— = 75 —— - W42 70,0 T} === = .84 m—— = 8l === ~ «41
L] === <16 08 —mm- 02 - .02 L | === «17 09 === 06 .04
73.0 U| === ——— —— - 78 = .58 =~ .42 73,0 U| ==~ - ce= - .85 =~ .62 .42
80,0 U] w=w —— m—— = ,80 « .62 =~ .38 80,0 T === ——— w—— = ,92 = 63 =~ ,40
L| e~ .12 Q03 06 = .38 ~ .04 L{ o= -.13 0 <10 - .45 O
86,0 U| w== « .22 = .60 - .80 - .72 85,0 U| === - .54 =~ .86 -~ .94 - .86 -———
Ll e~ 08 - 02 -~ ,12 - .16 =~ .08 L| === 08 - .08 - .18 ~ ,10 - .02
20,0 U -~ 18 = 44 - ,44 - 78 -~ .45 90,0 T =we = ,44 = .30 « .56 =~ .66 - .40
L 08 =~ 06 =~ ,12 = .20 -~ .10 L 04 - .18 - .18 -~ 14 - ,06
86.0 T - old =~ 44 - 44 - B4 -~ .44 85,0 U - 436 = .98 = 65 =~ ,66 =~ 40
L 02 mm—— = L1 = 31 = .15 Ir = 03 == . 18 - .22 =~ L1l
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lppessure coefficlents tabulated are

defined aa (pr-p}/q
. ..
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1
TABLE V.- TABULATED PREESSURE COEFFICIENTS™ FOR THE WING WITH
DOUBLE~-SLOTTED FLAPS DEFLECTED 55°. R = 8.0 x 10°
WING a = 8,0 WING a = 0,1
Orifice Oprifice
Location STATIONS Location STATIONS
Percent Percent
Chord I A B c D B Chord I A B [+] D B
[+] 1,43 ~l,44 1,28 ~1,07 -1.88 =2,08] [»] «ll ~0,28 =-0.,84 ~0.88 =0,49 -0,18
0.26 U | = 44 «~ .86 = ,20 -~ 11 - .30 -~ .bB4 025U | = .18 = .71 = .88 =1,16 ~ .80 = .53
L | ~2.02 «1,76 -1,38 <1.50 =1.82 w=- L .19 «16 04 Q8 ol7  =--
0.6 U | ~ ,04 .08 <11 .08 04 - 04 0.6 U | = .19 = .62 = .98 =-1,07 - .79 =~ b3
L{ -1,80 ~1,56 -1,24 =1.32 ~1.65 -1.8 L »18 .18 17 «l4 «21 .23
1.0 U 14 =ee «25 .22 -2l 1 1ls0 T | = .19 === = 82 = B9 = .66 =~ .53
L[ 1,16 =-— « .80 = .86 1,12 -1.21 L l2 == 23 23 «20 «22
1.6 U .18 20  —— .24 « 26 <21 1.8 U | = .18 = .48 === = .88 - .59 - .46
L mee = 90 - 64 - 76 - 90 ee- L — +20 «28 +20 020 —=a=
2.8 U «20 .20 .22 23 «26 . 2.6 T | = 19 = .40 = BF = .56 =~ .45 = .39
Ly =77 == = B8 - .58 - .88 - .88 L o086  ==a «®1 20 o17 .15
3.8 U «20 .18 <17 «20 23 «25 S5 U | = ,198 = .35 = 52 - .47 - .39 - .26
L[ ~ 64 = 7L = 42 =~ .83 = 57 ~ee L »04 «15 .18 .15 18 mme
5.0 U .18 .16 <14 18 <81 22 5.0 T} = 17 = .35 = .46 = L4l = .33 - .28
L o - 4T = (BT = 4B = AT — L «03 22 «l8 «15 «18 —
7.8 U .16 «13 «12 «l4 .15 18 7eB T | = 16 = 31 = .38 - .36 = .33 - .24
L] « .20 = .38 ==~ —— = T4 - .41 L | - 04 ol2  eee —-— 13 <09
10,0 U .14 . 08 10 <15 +18 10,0 T | = .15 = oFl = .38 = .33 = .27 =~ .24
L| = 36 == = .22 = ,26 ~-- — L 02 === +12 ol2  -=- ——
12.5 U — — — — — -_— 2.5 U ——— — — —— —— —
16.0 U 08 .08 .04 .04 .12 «13 15,0 T | = ul8 = «38 = .35 = .15 - .24 = ,I2
7.5 U .08 +02 02 —-e e B 1768 T | = o168 = o381 = 55 === = (82 ===
20,0 U 08 = ,01 e <04 N 20,0 U | = 16 = oF0 wme = 27 = 8l ==
L] « .08 = .16 «we= = .18 « .28 - .23 L Q2 08 =~ «07 <04 02
30,0 U .02 - 09 - ,10 -~ .01 .03 04 B0 T = A7 = 33 = 87 = .26 - .2 = ,1b
L| = .19 « .10 = ,058 - .16 - 17 === L | -.01 08 «08 <03 02 =~
40,0 U} - .05 = .16 = .13 = .04 .02 Py xd 40,0 T | = 420 = 38 = .36 = .26 = .18 -~ ,1B
L| = 17 - .04 - .12 - .13 - .18 L | - .01 «10 <10 o2 O - 03
600 U | = 08 === « 20 -~ .07 O [+} 50,0 T | = o235 weve = 39 - .24 = .18 - .12
L — +03 N6 - 10 = ,10 - .11 L —— «l4 13 - 01 - .01
60,0 U | = ,I2 = .30 =~ ,20 - 08 = 04 -, 60,0 U | = R4 =~ 42 = 34 = .13 = .10 = 06
L} - .07 .08 00 - .10 - .06 - .06 L <04 -17 24 01 <01
70.0 U —— e 48 = 3T = 11 ee- .08 70.0 T ——— = 5% = 48 = 2L = = 05
L — J12 10 = .13 - 03 - .04 L —— 19 24 - .06 02 0Ll
73,0 U — -— -—— = 13 = 0L 02 75.0 U — — — - .22 - .08 .08
80,0 U ——— e 70 —— = 0§ 04 --= 80,0 U m— = T8 mee e 14 - 04 -
L -— 02 -« 14 - .10 o] .02 L —— - 05 03 .02
85,0 U —-— - <03 [ 85.0 T — - 10 = 04 ——-
L — 02 = 02 ——- L — 05 O ——
80,0 U —_— - <02 02 +02 80,0 T - - 407 - .01 <01
L — .02 0 . L — 03 Q2 .04
85.0 U —_— -— .02 <02 85.0 T — — «Ql -
L - L —— 03 02 <04
FORE FLAP MAIK FLAP FORE PLAP MAIN FLAP
Orifice Orifice rificae Oorifice
Location STATIONS Locatlion STATIONS Locatlon STATIOES Loocatlon STATIONS
Percent Parcent Percent Percent
A B Chord A B Chord A B A B
4] -l,48 ~1.28 75,0 -0.28 0,07 [s) =1.53 =l.20 76.0 -0.26 0,08
l.c U | -2,94 =1,80 76.25 U] =we — 1,007 -5.05 <=1.86 75,25 U| === ———
L - 29 +268 Ll === - .24 L 52 «36 L| o= = .20
2.0 U} -2.78 -1.?;' 75,6 Ul - .6&4 © 2.07T -2.,84 ~1.,74 76,5 U| - .62 = .02
L 44 . L «18 = 07 L b4 <10 L 18 = L08
3.0 U | =-2,51 ~l.46 76,0 U| - .83 -1,01 .00 =2,55 ~l.43 76.0 U| - .82 =1.,04
L .40 <17 L 38 .18 L «40 o14 L «40 .16
4.0 U | =1.84 =1,17 T8 U| -1,39 - .85 4,0 T =Ll.85 ~1,13 776 U| =-1,35 - .26
L o em= L «AT «35 L - L «48 «31
5.0 U | -1l.42 =1.03 80,0 U] -1.04 —-=- 5.00 -1.3¢ ~1,02 80,0 Ul = 97 oua
L 24 01 L <44 «35 L 24 0 L «48 33
6.0 U — — 82,5 U{ - .79 ——- 6.0 T —— - ——- 82,6 U| = 7L ==
L 04 ~ 07 L <41 - 58 L 06 = ,10 L 435 +36
85,0 U] - .64 - .38 85.0 U} - .66 - .40
L «38 54 . L «40 33
90,0 U} - ,42 - .20 90,0 Ul - .38 =~ .27
L .28 24 L 353 24
95.0 U| = .36 - ,12 96,0 U| - .32 - .13
L 2l6 = L <22 —
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TABLE V.- CONTINUED
WIKG o = 4.2 WING a = 5,8
Orirfrice Orifice
Location STATIONS Location STATIONS
Percent Percent
Chord I A B [+ D B Chord I A B C ] B
[o] =0,88 =2.55 -4.76 -4.24 =3.67 -~2.72 [¢] -1.36 -3.62 -6.09 -5.48 -4.86 -3.84
Q.26 U| =1,87 =R.74 -3.42 -4,22 ~5.60 -2,80 0,26 U| ~1,74 =3.68 =4.83 «5.87 -4.54 =-3.72
L| - 02 - .68 -1.38 -1.21 <1l.05 . ==~ L] - .21 -1,15 =1.88 =1.71 =-1.5652 —_—
Q.6 Tl ~«1.15 -2.02 -2,94 ~5.37 -2.78 -2,30 0,6 U[| -1,71 -2,47 =~3,61 =3,94 -35.44 -2.88
L 12 - .29 - .50 - .66 - .48 - g2 L 03 - ,60 - ,90 - ,98 - .80 - .52
1,0 U| - .84 - -2.24 -2.,32 -1.92 -I1.84 1,0 U| -1.06 —— =2,67 2,786 =2.,32 =2,51
L «21 - - 08 ~ .06 - ,04 «O4 L .18 — - .2l - .21 - .18 - .12
1.5 U] - .74 -1.2¢ — ~1l.83 =1.,57 -1l.44 1.5 U| - .2 -1,80 - ~2.16& -1.88 <-1.78
L —— «16 <10 .06 10 L =m- L — <10 02 ~ .04 .02 —-——
2.5 Ul = .88 =~1,06 <L1.31 =~1.38 =~1.22 -~L1.14 2,86 Ul - .76 <1l.20 <-1,53 -1.61 =-l.42 =-1.37
I «19 —e- .12 .18 21 «20 L 22 —_— 18 .14 «15 .18
3,6 U} - ,58 - .88 -1l,14 -l.12 -1l,02 - .80 3,5 U| - .66 =L.06 -1.32 =-1.32 -1.20 <1.02
L «18 «20 .14 ..18 »25 — L .21 «21 .22 .16 22 m=-
5,0 Ul « 47 = 76 = .98 = .93 = .84 - 72 §.0 U} - .56 - .80 =-1,10 =-1l.10 ~1.04 - .88
L o] .22 «14 .22 «29 - L ——— «R7 «24 .22 .28 ———
7,8 Ul = .39 = .64 = .77 = .76 =~ 72 = .67 7.6 U| - 45 - 74 -~ .88 - ,80 - 90 - .72
L +08 . —— —-—— «235 21 L <10 26 —_— ——— «26 21
10,0 T| - .38 - .66 =~ .88 - .66 - .58 - .B1 10,0 U| - .40 - .67 - .79 - .77 - .66 - .63
L G T-J— .2l A8 e =le L .16 --- .e2 .20 - —
12,6 T| --- — ——— e S 12,5 U} --n — — - - -
15,0 U} - .54 ~ 50 =~ ,568 =« .30 = .48 - ,32 6.0 U| ~ .38 =~ .66 <~ .64 - .38 - .56 - .44
7.6 U| - 38 - .62 - .66 — - .45 - .12 17.6 U] = 36 =~ .66 = ,68 «—ew=- = 62 e
20,0 U} - .3C - .48 - - «48 = 4l — 20.0 U| = .32 ~ .51 ——— - B4 = .47 ——
L 04 .14 ——— .14 «13 11 L 06 .12 —— .18 «16 .12
30,0 U| = .28 = 48 « Bl = 43 =~ .36 - .21 50,0 U] = .30 =« .48 - .56 = 48 =~ .40 =~ .32
L 07 .13 .16 ] <08 — L 10 17 18 12 .12 e——
40,0 U| = .20 = 47 =~ .48 - .38 « .20 - .24 40,0 U[ =« .30 =~ .48 « ,60 - 40 - ,32 - .28
L .06 «14 .16 .06 06 <04 L .08 17 .16 .08 .08 03
50,0 U| - .32 ———— - 48 - 383 - .24 -~ ,18 60,0 U} - .32 —— = B0 = 35 ~ .26 =~ B3
L ——— .18 .16 «03 .04 +O4 L —— 18 .16 .08 08 02
80,0 U} - .31 - .49 = .38 - .14 - .12 - .08 60,0 T[ - .32 - .48 - 37 « .14 - L - .l2
L .08 .18 J QU o -} <04 04 L .11 .22 .18 04 .06 .08
70,6 U ——— - .82 - B4 - .27 —— - 08 70,0 U ——— - 628 - .54 =~ .28 ——— - 10
L ——— A8 +16 =~ .04 .06 «03 L — .22 .16 - ,02 .06 «02
75.0 0| --- —— - - .27 - .12 - .08 73,0 U| ==- —— - - .28 - 14 = .10
0 T| mem = Bl eee = 18 = 07 - 20,0 Ul eve o« 79  =ac = (20 = 08 —m-
L — (o] .06 .03 L ——— 02 .06 08
86,0 U ——— - 14 - ,08 ——— 85.0 U — - .16 = .08 .
L 02 «01 -— L — .03 W02 ==
0,0 U - 412 - .03 o] 40,0 U —— - .12 - 03 - ,02
L .02 02 .03 L -—— .03 <04 03
86,0 U —— e (4] «04 6.0 U — — ~ <01 4]
L —_— 02 .02 «04 L —— O3 04 +03
FORE FLAP ° MAIN PLAP FORE FLAP MAIN FIAP
Orifice orifice Orifice Oorifice
Looation STATIONS Location STATIONS Loocation STATIONS Location STATIONS
Percent Percent Percent Percent
Chord A B Chord A B Chord A B Chord A B
o ~1,50 -1.14 76,0 -0.28 0,08 o ~1,47 -1,12 75.0 -0,27 0,08
1,0 U| ~3.02 -1.88 75425 U{  wem it 1.00 ~2,08 ~1.88 765,88 V| —=-  —wm
u| 2180 -1786 5| e 22 7 ol76 2068 P -
2,0 U| -2,80 -1.86 76.5 U - .82 <05 2.0 -2.786 -1, 5. - -03
L <43 .10 L .16 - .07 L 44 .10 L .18 -~ ,09
3.0 Tl -2.49 -1,54 76.0 Ul - .82 -1,00 3.00 | -2.45 ~1.34 76.0 Uf - .80 -1,00
L .38 14 L .38 14 L «40 «13 L .37 .24
4.0 Ul -1,78 ~1.06 77.5 U[ -1.35 - .84 407 | -1.76 -1.08 77,6 1M -1,30 - .85
T 55 - L 46 .30 L 54 - L 46 20
5,0 Ul -2.36 - .97 g8d.0 Ul - .94 ——— &.0 1 -1.54 -~ .97 80.0 U} ~1,00 --«
L .23 - .01 L 4 .32 L 28 - .02 L «45 -5t
6.0 U| =mc - 82,8 Ul = .70 —ou 8.0 U — - ae.6 U| - .68 -I-
L 04 =~ .08 L 48 36 L 06 ~ .10 L «43 <35
85,0 U] - .86 -~ .38 85.0 Uy - .62 - .38
L .40 .32 LI .41 .32
90,0 U| - .38 -~ .26 0.0 Ul - .36 - .24
L iz o6 L| .34 .25
96.0 U - .32 - .2 85,0 U) - .30 =~ ,12
L N L P4 ===
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TABLE V.- CONTINUED
¥WIRG a = g, 2 WING c =7.2
Orifice Orifice
Locatlion STATIONS Location STATIONS
Percent " Percent
Chord I A B c D E Chord I A B c D B
s} «1.80 ~4.41 7,50 -6.64 -3.86 -1.584 Q 2,64 5,80 -5,80 -1.86 -1.,28 =0.67
0.26 U | -2.18 ~4,8286 -5.086 -6,12 <3.10 -1.48 .26 U | -2,88 5,38 -5.88 =1l.61 -1.08 - .61
L | -« .41 -~1.84 -2.,48 =2.,228 <1,61 = L |- .74 -2.22 -3.16 =-l.12 - .68 —-—
0.8 U | =1.82 ~3.01 4,25 -4.36 -2.66 -1.34 0.6 U | -2.,21. -3.76 -4.58 <1.59 =-1l.18 - ,58
L |- 410 - .84 <=1.24 -1.33 - .84 - .28 L J=-.88 -l.32 =1,66 = .70 - .36 - ,08
1,0 T | 1,97 ==~ -3.06 ~3.00 -2.28 -L.e7 1.0 U | =l.80 === =317 <=1,60 =-1.26 = ,61
L «13 m—— = ,38 - .37 = .25 L ] m=— = 58 = .13 - .04 .08
1,5 U | =1,10 -~1.82 ==« 2,28 -2.,01 -1.50 1.8 T | =1.358 =-2.,2l =~ -1.80 -1.21 - .62
L ——— W02 = (07 = .15 = .02 === L —— - 13 =~ .21 10 —ee
8,6 U | 1,00 ~Ll.44 -1,71 ~1l.74 =-1.63 -1.32 2,5 U | -1.08 ~l.72 <=1,86 ~l.64 - .98 - .62
L «2l  m=- 15 -08 14 .18 L .22 | e=- 09 «156 .20 «20
3.8 T | = 76 -1.20 -1l.47 =-1.52 -I1.48 -1,32 35 U | = 891 ~1l.44 =1.88 =1.67 =« .91 =~ ,62
L 21 17 +2L 14 o2 e L 24 +10 «17 .18 24 —-=
5,0 U | = o84 =-1.01 -l.24 -1.40 <~1l.43 -1.32 B.0 T | = 76 =le228 -1,85 =-l.70 - .90 - .66
L ——— <27 .24 .22 .26 — L —-— .16 .22 «24 e300  =e-
76 U | - 61 - .82 -1,0F <-1.,20 =-l.18 -1.03 7.8 U | = .60 -1,01 =-1,68 =~1.79 = .94 =~ .64
L .08 24 —— ——— 24 « 22 L « 13 24 ——— —_—— <27 .22
0.0 U - 46 - .74 - .88 - .98 -1l.91 - .85 0.0 T = oG4 = .88 =1,04 =1.85 - .86 -~ .64
7] P 24 22 - —— L 2l - «26 24 = —
12,6 U —— —-— ——— — ——— -— 2.6 U —-_— -——— _— se—— — —
15,0 U - o4l - 60 = 68 - 44 = TT - 66 15.0 U - 48 = TR = 76 ~ 93 =107 - .58
17,8 T | = o838 = 6l = 68 ou= = 66  ea- 17,6 U | = 43 = ,68 = ,76  ==- =1.08 —-—
20,0 U | = o838 = B === = .60 = 68 - 20,0 U [ = .40 = 62 -—=a= 1,00 -L.14 —
L 04 W18 ——- <17 =16 «13 L .08 20  ~-=- «20 .18 o14
30,0 U | = 35 = 51 = B8 = .50 - .44 =~ .34 30,0 U | = «356 =« 58 -~ ,66 - .44 -1,10 - .75
L «10 «17 .19 .12 W10 e L 14 .18 «20 +15 ld e-e
40,0 U | = 4835 = 50 = (51 = 44 = 35 - .28 40,0 T | = 35 =~ 854 =~ 57 =« 39 =« 48 - .79
L 07 .18 .19 «09. «08 04 L <12 .18 «20 12 .22 =06
50,0 U | = 36 w—— = Bl - .38 - .28 - .24 5040 U |« o6 === = .56 = F6 = 17 = ,72
L — .19 19 «06 «04 «04 L —_—— «18 «20 08 .08 .05
60,0 U | = 38 = 49 = 38 = 14 - 16 - . 1ig 60,0 U | = o35 = .83 - .37 - 14 - 14 - .18
L «09 «21 .20 <04 <04 <04 L «13 o2 «20 <06 .08 .06
70.0 U mme e B2 = (BF = Bl e = .12 70.0 U —— - 88 - .56 - /3L — = G20
L —— 22 +19 = W01 04 <05 L — «21 19 <01 08 4
3.0 U —— —_— m—— = W30 - L18 - 12 75.0 U — — — = ¢30 = .11 - .13
80,0 U - = T8 e = 2L = 12 eee 80,06 U ——— - B = - .22 - .08 -—
L — 0l - .12 <02 O£ .02 L —— = 40l - 12 .04 .08 <04
€5.0 U —-— = 17 = W10  =-- 86,0 U — = 16 = 06 we=
L W03 = 0L eme L —_— =04 e
90.0 U - W4 - 07 - 04 80,0 T -—— - .14 - .03 .02
L —— «03 =01 .03 L —— <04 «04 08
85.0 U -_— -~ = 04 0 95,0 U —— = = 0L 04
L =— +05 0L «05 I — .04 04 .06
PORE FIAP MAIN FLAP FORE FLAP UATY FLAP
Orifice Orifice Oriflice orifice
Location STATIOHS Loaatlon STATIONS Location STATICHB Location STATYOR2
Percent Percent Percent PaToent
Chord A B Chord A B A B Chord A B
o] -1.42 ~1.08 75,0 -0.28 0,10 [s] =1,48 -1,08 75,0 0,28 0.09
1.0 U | =2.88 ~1.82 78,25 U| —- —— 1.0 T | -2,98 =1.86 75,86 U| ==- —
L «30 32 L] e - .21 L «30 «34 L] === « .20
2.0 U | -2,67 -1,60 76,6 U| - .60 +06 2,0 U | -2,74 -1.82 75.6 U| - .62 02
L 43 14 E «l6 = .08 L 43 14 L <18 - 08
3.0 U | -2.36 -1.%0 786.0 T| - .77 - .06 3,0 U | =2.,43 =1,31 76,0 T| - .80 - ,98
L «38 14 L o35 «15 L -39 -15 L «38 «15
4,0 U | -1.68 -1,02 7.5 U[| -1.26 - .78 4,0 U | =174 -1.,02 7.6 U| -1,28 = ,80
L «33 —— L ohd «32 L oM - L <46 32
5,0 U | -1.,28 - .93 80,0 T| = .87 === 5,0 T | =1.33 - ,94 80,0 T! - .20 —_—
L 24 --- L o4l 32 L 24 0L L <47 «SS
6,0 U —— ——- 82,6 U] - .83 —— 6,0 U —— —— 82.5 U] - .66 wwe
L 906 =07 L o4l « 37 L 04 - ,08 L <42 «38
. 85,0 T| - ,50 = .35 85,0 U] - .54 - .36
L « 38 « 54 L «40 «35
80,0 U} - 368 - .22 90.0 T)] = 36 - .24
L s 27 L « 34 .28
95.0 U| - .30 - .08 95,0 U] - .31 - .00
L BR  w~e L 24 ===
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TABILE V,- CONTINUED
WING a = 8,2 WING aw 9,2
Orifice Orifice
Looetion STATIORS Locatlon STATIOKS
Percent Peraent
Chord I A B c D B I A B [+ D B
o] -5,87 ~6.,84 -3.88 ~1.,2) «1,02 «0,64 [+] 4,07 «5.82 ~1,87 «1.01 =0.,78 -0.43
Q.26 U ~3.66 =~5.98 -2.68 ~1,16 -~ .88 - .49 0.5 U -4.,29 ~4.28 -1l.64 ~ .96 = ,68 -~ ,39
L =1,10 =2,78 2,10 -~ .92 =~ .61 ——— L =1.68 -2.77 -1.50 - .82 - .50 ——
c.6 U ~2,80 ~4£,10 8,74 ~1.18 « 90 - .47 G.5 U =3,04 ~3,30 =1.79 = 96 - .68 - .38
L - o561 =1,71 <1l.19 « .60 - .35 - ,06 L - 78 =177 - ,88 = 65 ~ .26 - ,04
1.0 T ~-1.88 —— ~2.46 -1.14 - .88 - 47 1.0 U -2.20 ——— “Ll.6£& =~ BB = 75 = .38
L - .04 —— - .42 ~ .10 - 02 <08 L - 19 —— - .30 - .08 [»] .10
l.6 U -l.66 =-2.38 ——- =1l.14 - .89 « .47 1.5 U -1.82 ~2,6) —— - 856 - .76 - .38
L - - .28 =~ .13 +02 .09 — L —— = 31 - .08 02 «11 ——
2,56 U -1.,26 =1.87 ~£.16 ~1.16 - .88 =~ .47 2.6 T ~l.43 =-2.49 -1.54 - .96 - .70 - .38
L o2 —— «12 .18 o 20 +«20 L «17 —— 14 .16 «21 +19
3.5 U «l,04 =-1.80 ~2,228 =1,17 = .83 =~ .47 3.5 U ~1,18 -2,40 ~1,60 = ,97 - ,67 ~ .38
L «24 03 .19 .19 «24 —— L 22 .02 .20 .18 «24 —
5.0 U - 86 =1,60 2,34 ~1l.19 =~ .80 - .49 5.0 U - 408 «2,33 =1.68 ~ .99 « 656 ~ 38
L — «23 23 «26 «29 ——— L —— «24 .24 25 .29 ——
7.8 T - 68 =1.30 =2,30 =-l.22 - .81 - .49 7.6 U - .78 ~1.,98 <1,76 ~1.03 - .66 - .59
L 14 «26 —-— ——— .27 «23 L 16 .28 - —— .28 22
10,0 U | = 80 =1,01 =2.12 =1.,27 = .82 = .49 0,0 U | -~ .68 -1,45 -1,94 -1.08 - .86 = .
L 24 - «27 «28 — —-—— L «24 — 28 +26 - ——
12.5 U ——— ——— “om e —— — 12,6 U ——— —— —
35,0 U | = oBL = 77 =2,15 =~ 78 =~ .84 = .49 5.0 U | - .56 = .84 =1,86 = ,83 « ,70 - 40
176 U [ = 48 = .76 = ,88 === =~ .84 === 1786 U | - .82 = 74 =l,AL == = 70 ===
0,0 U | = 43 = .68 —we 1,46 =« 88 ~=u 20,0 U | = .47 = 7O =e=  =1,25 = L e=—
L «10 «Zl e—- «21 .18 14 L .12 25 === .22 .19 .14
30,0 U] - .38 =~ .62 - .,B6 =1,25 - .98 - ,58 30,0 U | =~ ,40 = B4 - 6B =1,34 = Bl =~ .44
L .17 .18 g1 .16 - L .20 .22 .22 .18 W16 e,
40,0 U | = .37 ~ .38 - ,80 - .88 -1,01 - .69 40,0 U | = .40 - .81l = .45 -1,18 - .92 = .50
L 14 .18 <23 13 ol2 06 L 18 .22 y-11 .14 13 04
50,0 U - o357 ———— = B0 = ,53 - 856 - ,74 5.0 U - 40 ~—— = 5l = .8l - .84 - 57
L -—— 18 20 .10 «10 04 L ——— «23 «21 12 10 02
60.0 U = (56 = 56 = 42 ~ .15 ~ .19 = .28 60,0 U = 38 = 56 = 851 - 16 - .24 - .38
L .18 +82 «20 .08 OB «04 L .18 «85 21 . 09 .02
T0.0 U — - 88 - 80 = .28 —— ~ .64 0.0 U -— - .68 = .86 - —-—— - .62
L — 22 .19 «04 .09 05 L —— €5 «20 .04 09 -~ 01
75.0 T -— — - - ,28 -~ ,10 -~ .81 73,0 U ——— — — = 20 « 46 - 7O
80,0 U —— - —— - 16 = L,01 e 80.0 T - - .81 —— - .10 - .2l -—
L - Q - .12 06 +10 .02 L —_— 04 ~ Il 07 N8 - 04
86.0 U - (13 - ,02 ——— 86,0 T -—— = 06 - ,22 ———
L <04 +0O5 ——— L ~— «04 Q6 -——
90.0 U - <10 .01 - .18 80.C U —— -~ 08 = ,06 = .60
L <04 «06 04 L —— 04 06 =~ .08
86.0 T et 08 -~ 08 85,0 U —— -_— 02 = .48
L .04 .06 <04 L —— <04 07 = J14
FORE FLAP MAIR FLAP FORE FLAP WAIN FLAP
Orifice orifice Orifice orifice
Location STATIONS Locatlon BTATIONS Location STATIONS Locetion STATIONS
Percent Percent Percent Percent
Chord A B Chord A B Chord A B Chord A B
2] =1l.44 -1,04 75.0 =-0,30 C. 09 [+] ~1,36 =0,93 75.0 -0,25 0. 09
1,0 © =283 =1.81 75,26 U -—— —— 1.0 U -2.78 =1,67 765.25 U —_— —
L .28 «33 L —— - 420 L « SO «25 L === = G2
2,0 U | ~2,70 =-1.60 T6.5 U/ ~ .61 07 2.0 U | -2.54 ~1.48 76,6 U| - .54 .08
L «40 - L «12 - LO7 L 44 o1l L .16 - ,08
3,0 U | «2,38 =1,29 76.0 U}! =~ .80 ~ .96 3.0 U | =2,24 1,19 76,0 U| - ,70 -~ .86
L 56 14 L 38 <14 L 40 +10 L «36 «13
4,0 T =1.72 <-1.01 T7.6 U | =1.88 =~ .79 4,0 T ~1.60 = .94 7.5 U] -1,18 - .68
L Pr. ] - L ol .30 L «36 - L 46 .28
5.0 U | =1l.32 =- .92 80,0 U} - . — 5,0 U | =1,22 - .86 80,0 Ul « 82 =mw
L 22 0 L «40 32 L «268 - ,03 Ll === «30
6,0 U - ——— 82,6 U| - .87 ——— 6,0 U .- - 82,5 U - .60 ——
L 05 = .08 L 38 «37 L .08 -~ ,10 L 44 .36
85,0 T} = .65 - .36 86.0 U} = ,48 - ,30
L « 56 «33 L 42 52
90,0 U] ~ 38 = .24 90,0 U - .32 = .20
L «50 «26 L «36 +£6
95,0 U | = 33 = .10 95,0 U] -« .26 = 0%
L - L B8 ===
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TABIE V.- CONTINUED

WING o = 30,2 WING c® 11,3
oriflce iflce
Location STATIONS Lacatlon STATIORS
Fercent Percent
Chord I A B c D E Chord I A B [ D B
Q -4.,8¢ -3,12 -1.53 -0.88 -0.83 -0.37 [«]
0.26 U =5.02 =22, =1,533 = .82 ~ .54 =~ .34 0.256 T
L | -1.92 -2,10 -1.34 ~ ,76 - .43 - 02 L
0.6 U | -3.48 -2.26 <-1,46 - .81 - 66 - .32 0.5 U
L | =-1.04 -1.42 - ,80 - .54 - .25 - ,03 L
leQ U [ ~2,47 === <=1,34 = .81 = 60 ~ .35 1.0 T
L =30 == - 27 - .08 +01 08 L
1.5 T | -2,02 ~2,18 =-- - 8l ~ .58 = .33 1.6 U
L .02 ell =ee L
2,5 U - .82 - .56 - .32 2,6 U
L «16 «20 219 L
3.5 U - 83 = .56 -~ .32 3.5 U
L .18 o4 ~e= L
5,0 U = 86 = 54 - 34 5.0 U
L «35 «28 —-— L
76 T - .88 - .58 - .35 7.6 T
L ——— «26 22 L
10.0 T - 92 = 568 - .36 10,0 U
L 086  wwe —— L
12.6 © — ——— —— 12,6 T
16.0 U - 62 = 69 =e= 15.0 U
17.6 T ~——— - .69 —— 17,5 T
20,0 U =108 = 60 == 20,0 U
L 25 .18 o135 L
30,0 ¥ -l.24 <~ .67 - .40 30,0 U
L <18 .15 —— L
40,0 U =L 87 = 76 - 44 40,0 U
L .15 .12 04 L
50.0 T -1.14 - .82 - .49 50,0 U
L 12 08 «02 L
60,0 U - A7 = 2T - 34 60,0 U
L «10 07 L
70,0 T - .38 e——= = 55 70.0 U
L .05 07 - 04 L
75.0 U - W30 = 71 - .62 73.0 U — - —— = .88 - .70 - .54
80.0 T - 16 - 5% -— 80.0 U _m = W8l == o« 48 = 61 -—
L .08 .06 = ,09 L — .08 = .08 .08 0 -~ ,10
86,0 U = 08 = 45 ——- 85.0 U -— - a28 = 628 --
L —-_— 04 Ol —e=m L — 04 = 07 -
0.0 U —-— —~ 02 - .34 - .56 90,0 U — ~ J15 = 58 - 86
L —_— - <04 QL - .86 L — 04 - .08 -~ ,16
86,0 U ——— —~—— - 23 -~ .68 95.0 U — — - .56 - .64
L - 04 =- 24 L - 04 - 14 - .23
FPORE FLAP MAIN FIAP FORE FLAP MAIN FLAP
Orifice Orifice Orifice Orifice
Locatlion STATIONS Locatlion STATIONS Location STATIONS Locatlon STATIONS
Percent Percent Percent Peroent
Chord A B Chord A B Chord A B Chord A B
o] -1.35 -1.,00 75.0 -0.24 0,10 0 75.0 =0.23 0,12
1,0 U | -2.,82 =1,76 75,856 U | == ——— 1.0 U 75425 U| === -_—
L . .53 L| === = .20 L L| === = ,18
2,0 U | -2,58 =1.,56 75,5 U |- .b4 «10 2,0 T 76.5 U| - .58 «11
L +48 +15 L 18 - .08 L L .18 - .06
3.0 U | -2,27 =IL.24 76,0 U |- .71 - .89 3.0 U 76,0 U| - .70 =~ .88
L .42 .18 L .38 156 i L 58 «l6
4.0 T | =1,63 = .97 T7.% U [-1l.21 - .71 4.0 U 77,5 U| -1.20 -~ .68
L 36 m=- L .48 .32 L L .48 «33
5,0 U | -1.,2¢4 - .88 80,0 U |~ .85 o=- E,0 T 80,0 U | =~ .84 =~=
L . 02 L «48 34 L L -47 «35
&é,0 U ——— —-— 82,6 U |= 68 o= 8.0 U 82,56 U| = 63 ==
L .10 -~ 05 L «45 «39 L L «45 «40
85.0 U [= 51 = .30 86,0 U= ,51 - .e8
L 43 «36 L «43 «36
60,0 U |- .33 =~ .18 80.0 U = 38 =~ .17
L «38 «28 L «38 «SL
86,0 U |- 27 - .05 95.0 U| - .27 =~ .04
L 28  ~== L o 28 ==
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TABLE V.- CONTINUED
wING e = 12,3 WING ¢ = 16,3
Orifice Orifice
Location STATIONS Location 8TATIONS
Percent Percent
Chord I A B o] D B Chord I A B c b E
o] «8,80 =2,00 =1,30 ~0,78 =0.54 -0.38 o] -4,45 =-1,91 -1,10 0,72 -0,55 -0,40
0.25 U -6,88 -1.64 ~1,19 - .72 = .49 - .38 0,25 U ~3.38 ~1,64 -1.04 - .86 - .50 - .38
L =3,08 =1.77 ~l1.54 - .76 - .44 — L =338 =2.09 =l,%4 - .85 = .58 =-==
[+19 - -4,47 <1.80 <~l,30 - .72 = ,50 - .34 0.6 U -3.286 =1,60 =~1.08 = .86 - .50 = .38
L =178 -1,26 - .84 - 56 <~ .26 =~ ,10 L -2.17 -1,864 ~ .54 - ,87 - .38 - .22
1,0 U | =3,00 === 1,20 = .72 - .62 = .35 140 U | =3.82 === 1,06 - ,66 ~ .51 -~ .37
L - 70 — - W32 = 13 - .02 <04 L -1,00 — - 44 = 22 -~ .28 - ,04
l.8 T -2,41 ~1.87 ——— = .78 = .52 «~ .35 1.5 U -3.85 =1.66 —_—— - «66 = .51 - %
L —— - .23 - ,09 -~ .03 .08 —_— L —-— - 44 ~ .18 -~ .10 a0l ===
2.5 U -1,88 =1.81 =1.18 =~ ,7% = .51 =~ .35 2,6 U =335 ~l.59 — - 88 « Bl - .37
L .02 —— 12 .32 .18 .17 L - .08 —— <05 «O7 .14 15
3.6 U ~1,80 <~l.,B4 ~-l.23 - ,74 - 51 -~ .35 3.5 U «3.48 =160 ~l.10 = .70 =~ .62 - .38
L 18 «O4 .18 el6 . B2 w=m L 13 - 09 14 .14 . ———
5.0 U | 1,90 =1,68 «~1,26 = .78 = .60 = ,36 6.0 U | «3.84 <1,63 =-l.,l2 - .71 =~ .62 - .38
L —— «26 «83 <28 28 — L — «22 18 <21 24 ==
7B U | =139 <=1,76 =1.29 = .76 =~ .52 = ,%8 Teb U | =3,98 =1,68 «~1l,13 =~ ,74 ~ 654 = .38
L <17 32  ~—= ——— «26 «28 L .19 30 = —— <26 22
10,0 U | = .94 =1.86 =1, - .82 = .62 - .38 10,0 U | =3.02 =1.74 ~1.18 = .76 = .54 ~ .40
L P R +30 JO-Y — ——— L 56 ——m .31 e27 == e-—
12.6 T —— —— —— — —_— — 12,5 U —— —— — e —— -
15,0 T - .76 -2,40 -1.%8 - .46 - .54 - .36 16,0 T =1.06 <1,78 =1.,18 -~ .43 -~ .56 - %%
17.6 U - 70 =2,12 =1.43 ——— - 84 =~ ,18 17,6 U - 77 =1l.688 -1.22 —— ~ .58 —==
20,0 T - 81 2,51 - - 88 .= .55 — 20,0 U = o687 =£,18 — - o8l = 57 anw
L J14 «S0 ——— «22 .18 14 L .18 «34 ——— «26 .22 16
0.0 © = 56 = ,58 =1,89 - .85 - .58 - .42 30.0 T = 68 <-E£,45 1,43 - .83 - .61 - .44
L .28 «28 «26 .18 .18 — L « 34 «32 «30 .22 18  =a=
40,0 U = 53 « .41 ~-1,82 -1.08 = .61 - ,44 40,0 T = .56 = .94 ~1l.50 - .88 -~ .62 ~ .44
L .24 «28 L6 «16. «l2 04 L «51 32 <50 .18 +16 08
50,0 U - 49 —— - 77 «1,08 - .83 = .45 50,0 U - 56 -—— =l.44 = .Gl =~ .65 - 44
L ——— «28 -£4 .12 .08 08 L —— 32 .28 +15 «10 +04
60,0 U = (4D = 52 = R6 - 27 = .32 - .34 60,0 U = ¢8F = 46 «l,156 = .31 =~ .38 - .38
L «25 +30 <24 08 <08 L «28 «32 «28 « 14 .08 <03
70,0 T —-— - .68 =, - .97 —— - .46 70,0 U ——— ~ 66 - ,98 - .88 ——— -,
L -— «30 24 TJ04 02 - 04 L —— 32 «26 .08 04 -~ 02
75.0 T — - — - <98 - .68 - .48 73.0 U - ——— ——— -1,04 = .70 - .
80,0 U ——— = B0 === 2 7T - 82 —-- 80,0 U e = 78 ee= = LB = 70 -
L ——— .08 - ,08 06 ~ 01 ~ .08 L —— «20 - .04 .08 ] = W07
85.0 U —-—— - 80 - .64 —~—— 85,0 U — - 85 = .88 ===
L —— W08 = .10 | === L ——— 05 = 08 ~em
20.0 T —— - 4B = .86 = .48 0.0 T — - .86 =1,06 = .56
L 08 - 14 =~ .13 L — 06 - .14 - .12
95.C0 U — - 77 = 50 95,0 U — ——— =1,46 - .56
L J08 = .24 -~ .18 L ——— 056 « 24 - .18
FORE FLAP MAIR FLAP FORE FLAP MAIN FIAP
Orifice Orifice Orifice Orifice
Loocation STATIONS Locatlon " STATIONS Location STATIONS Location STATIONS
Percent Peroent Porcent Percent
Chord A B A B Chord A B Chord A B
o] =1,28 =0,96 75,0 -0.21 0.1l0 o - -1.5%4 =0.80 76,0 -0.24 0.11
1.0 U =g,68 ~=1.,80 75.,26 T —— ——-—— 1.0 U ~-2,84 =1,54 75,25 U —— —-——
L «36 54 L — - 20 L «36 «26 L —— = <17
2.0 T ~2,44 =1,83 76.5 U|=- .50 «10 2,0 U -2.862 -1.29 75.5 U |~ .B3 «12
L .48 16 L +20 - L08 L 48 16 L o188 = 05
3.0 U | =R,15 =1.34 76,0 U |= .67 = 0L 30 U | =2.350 =1,19 76,0 U= ,70 - .84
L 44 16 L «40 «14 L 44 18 L «38 «15
4.0 U | «1,66 ~1.01 7.6 T |-l.28 = .73 4.0 U | -l.84 - .98 .5 Ul=-1.21 - .74
L «59 ——— L 860 38 L «38 «16 L «50 «33
5,0 T «1.,20 -~ .80 80,0 U |- .86 — 5.0 T -1l.26 =~ .78 80,0 U |- .88 —
L .30 .0g L .50 o34 L «30 04 E .50 .36
6,0 T —— — 82,8 U [m= 83 == 6,0 U —— — 82,6 U [~ .68 ===
L Jd2 - .06 L «48 «40 L J10 = 04 L .48 o4
85,0 U |- .51 « .30 86,0 U= .85 =~ .30
L «46 «36 L «48 «37
90,0 U |- .33 - .18 90.0 U |- .32 - .17
L «40 «50 L 42 «32
6.0 Uj=- .26 = 056 96.0 U |= .86 =~ .04
L - L 58 ===
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TABLE V,- CONCLUDED
WING a = 22,8 WING = 27.8
Orifice Orifice
Location STATIONS Location STATIONS
Percent Paroent
Chord I A B [+ D E Chord I A B c D E
o] -4,98 =1,52 =0.,85 «=0.65 0.48 0.40 o =-35.08 =1.38 =0.90 =0.64 =-0,50 =0.40
0,256 U | -4.14 =-1.38 - ,88 = .82 - .46 - .38 0,25 U | -2.86 =1.30 = .86 = .61 - ,46 -~ ,39
L | ~4.,95 =1,99 «1,28 = .88 = .57 == L | -3.98 -1.90 -1,87 - ,91 - .68 ——-
0.5 T | =411l <=le25 =~ ,90 = .62 = .46 =~ .36 0.5 U | ~B.86 <=1.26 = ,86 =~ 61 - .46 =~ .37
L | ~3.46 =1.75 <-1l.01 - .76 -~ .42 - .28 L | «3.05 -1,78 =1.06 - .82 - 49 - .54
10 U | 4,24 o= = ,90 = .88 = ,46 - .35 1.0 U | =2,848 === = 86 = 6l - 46 -~ .38
L | =le83 == = 52 = ,28 « 17 = ,10 L [ «LeT7 === = .59 - .35 - .22 - .14
Lo T | 4,80 =l,328 === = 82 = 46 = .38 L85 U [ =5,01 «l.24 === = 61l = 46 =~ .38
L m— = B8 = 27 ~ 16 - 04 - I m—— = 88 = 34 = 22 = 07 o=
2.5 U | ~4,32 <=1,36 =~ 953 =~ 67 ~ .46 - .38 26 U | =3,10 =1,20 - .88 - .68 - .46 - ,38
L | = o428 = = ,02 02 2 «13 L | = «48 === - ,08 - .02 «10 12
Be5 U | =4.20 =1l.39 = .98 = .64 - 46 -~ .36 JeS U | =Fl8 <1.32 = .82 = 68 - 48 -~ .37
L - 08 - .19 .09 «10 19 — L - 12 - .27 <04 <08 «18 ——
5,0 U | =4.17 =-1l.44 -1,00 = .68 = .47 - .38 5,0 U | =3.85 <=1,34 = .95 = .63 = 46 = ,39
L ——— 216 «13 .18 83 eme L .01 «12 <08 .18 25 —
Teb T | =397 =147 =L, 0L = .68 = .48 - ,38 Te8 T | =J.44 =-1.37 =~ .95 - .64 - .48 - .39
L .22 e32 == — .28 24 L .22 P -_— «30 .26
10,0 U | =4,04 =1.,50 <=1,07 =« .70 = .48 =~ .40 10,0 U | =F84 =1.428 =~ ,98 =~ .65 = .48 = ,40
L adl - «S1 27 - ——— L 43 == oSl «26 == —
12,6 T — -— — -—— —-— — 12,5 U — — — m—— m-—— —
16.0 U | =4,04 =1,63 =1.08 = .38 = 51 = 37 15,0 U | =2,50 <1,45 = ,99 = .38 - .48 - .58
178 U | =3,30 =le43 =1,10 === = 5l ===~ 175 T | =3.22 =1lul9 =108 === = 48 ===
20.0 U =-3.08 ~1,70 —— - .76 = 52 ——— 20, U =-3.00 ~-1,52 - = .68 = .40 —
L 22 «40 === .28 «25 «20 L «24 48 == 28 .28 «25
0.0 T = o885 =186 =1l.18 = 76 = G4 -~ 42 30,0 T «l.78 =1l,60 =1,08 = 70 = ,52 = 43
L 44 =39 «33 «24 2l —- L «50 42 34 .24 Bk ==
40,0 U | = .65 <1,82 =1.82 = .76 =~ .56 - .44 40.0 T | ~1.18 =1,68 =~1,10 = .72 ~ .56 - .45
L 41l .38 «32 «20 .16 «10 L «46 42 «33 «20 .19 «15
50e0 T | = 468 mum «1,25 ~ .80 = .58 = .48 50,0 U | = (86 =m=e <=1,14 = 76 = 60 - .48
L —-— «38 «30 <16 «11 «08 L — 42 «30 13 12 «10
B00 U [ = 063 = 92 =1.16 = .36 = 44 =- 46 60,0 U | = 81 =2,28 =1,10 = .38 = .44 =~ .48
L «55 «38 <28 13 «08 04 L «59 42 - 20 .08 07 .08
70,0 T m—— = 80 =1,22 = ,98 === = 680 70,0 U m——  =l,1R =l.R0 - 74 --= - .83
L —— «56 .26 .06 04 = 02 L — «39 « 25 a Q +01
75.0 U -— — — 21,028 - T4 - 64 3.0 U — ———- -— = .88 A - .
80,0 U ——— = 78 ee= - 95 - 84 ——- 80,0 U e e WPl == = 88 5 8l ==
L — 16 = ,09 05 - JO04 - .10 L —— W19 - 12 - 04 - 08 -~ 08
85,0 U — = 92 =1,08 = 85,0 U — - 87 = 82 ——-
L — 08 =~ 15 =e- L —_— 04 = 22  ——e
80,0 U —— = 96 <1,54 ~ .86 90,0 U — - .02 1,10 - .84
L —— o068 = .20 = 17 L — «04 - .28 - ,18
86,0 U —— -—— <1,62 - .82 95,0 U — —— =l,34 - B4
L —— 08 = 32 - 26 L — 0 - 43 = 28
FORE FLAP MAIN FIAP FORE PLAP ¥ATN FLAP
Orifice Orifice Orifice Qrifice
Iocation STATIONS Locatlon STATIONS Location STATIONS Location STATIONS
Percent Percent Percent Percend
Chord A B Chord A B A B Chord A B
Q =1.23 =1,07 75,0 -0.22 0,10 o] =1.16 =1,30 76,0 -0.,20 0,10
1,0 T | =2.,68 =~1.,49 75,25 U| === — 1,0 U | -2,47 -1,76 F6.26 U| —-—- —
L «38 o268 L| === = .24 L .42 34 L| === = .3
2,0 U | =2.48 -1.80 75,5 U] = .52 12 2,0 U | -2,81 -lL.44 T5.5 U] = .45 «10
L .52 «19 L L - .12 L 53 « 20 L «20 =~ 18
3.0 U | =2.284 -1.08 76,0 T| = 71 =~ .88 5.0 U | -1,96 -1.8% T68.,0 U | =~ 66 =1,04
L «47 «16 L A2 2 L .48 «20 L «42 .08
4,0 U | =1,64 =~ ,98 T7.6 T| -1l.286 - .84 4.0 U | =1.46 =1,17 7T7.5 U] -1l.,22 «~1.,08
L 42 —e- L 52 52 L td === L +52 «29
5.0 U | =1,80 - .88 80,0 U| - .95 == 5,0 U | -1.16 =1,09 80,0 T = .98 ===
L 34 .08 L «63 «35 L «35 13 L 54 «33
6.0 U -— —— 82,5 U | = 73 w=w 6,0 U —— -_— 82.5 Ul = 73 ===
L <14 +0L L «51 -41 L +16 02 L <54 «58
85,0 U |- .68 - .44 85.0 U | - .62 = .64
L «50 «56 L .52 o4
80,0 U| = .38 - .32 90,0 T| = 46 = 53
L «46 «30 L «48 26
86,0 U] - .26 - .16 95.0 U |~ .29 ~ .38
L B8 == L o839  —=-

S .
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TABLE VI.~ TABULATED PRESSURE COEFFICIENTS™ FOR THE WING
WITH ALL THE LEADING-EDGE SLATS DEFLECTED.
R = 8,0 x 108
a = 0,0 a = 5.1
SLAT 8IAT
Orifice Orlfioce
Location STATIONS Loocation STATIONS
Percent Percent
Chord I A B C b B I A B [4 D B
Q 0,12 =0,14 -0,42 «0.28 =0.36 0,88 [s) 0,04 =0.01 0.13 0.02 0,08 Q.09
0,85 U 14 .18 .10 ol 186 «13 0.26 17 - o820 = B30 = ,05 - 24 - .25 -~ 2P
L - 868 « B0 - .62 - .66 - ,B6 —— L «l4 «16 19 «20 22 ——
0.6 U ——— .18 «21 <20 «22 21 .56 U — - 34 - 2L - ,32 ~ .32 - .27
L - .56 = .48 <~ ,58 - .68 - .54 - .41 L «10 «l4 17 4 «20 .21
10 T «14 —— o221 21 «22 20 1.0 U - .26 —— = o256 = 32 = 50 - .32
L - .48 - - 44 = 48 = 45 - .36 - L .06 —_— .12 14 +15 .18
1.5 T .12 <13 - .18 22 «16 1.5 U - .26 - 32 — - . - 87 = 30
L -— = «8B = ,28 « .35 =~ .26 —— L — +«10 «10 0% «14 —
2,6 U .08 10 .15 o 14 «18 «14 2.5 U = .28 = 27 « 25 - .28 - 25 = ,26
L - 42 = 27 - 82 - .24 - .22 =~ .10 L - 04 08 <05 08 +10 12
3.5 T <06 +08 .08 W11 Ppt-] 14 3.6 U = +85 - .26 - .23 - ,25 - ,24 - .20
L - 40 ——— - .16 - .21 - .,l6 ——— L - «07 —_— +03 «04 .08 ——
5,0 U 03 «04 06 .08 «10 .09 5,0 U - 424 = 24 - 22 - 24 - ,22 - 20
L -~ .48 - 04 - .10 - .11 - .10 - .00 L - 17 00 - 04 - 02 04 04
7.8 U +01 = .02 .04 «04 +03 .04 7.6 U - W22 - 20 - .22 - .84 - .24 - .80
L - 58 « 04 -.,l2 - .16 - .08 -~ .02 L - «25 0T - 06 - ,13 <05 03
16,0 U - 02 - 04 - ,02 - ,02 02 10,0 U = 82 = 85 - .24 -~ 24 - .22 = 21
L - 30 = 04 a - .18 =~ .08 = ,04 L - .08 «05 - W16 <08 O
16.0 U -~ 04 = .08 ~ 06 -, - 02 ~ 04 16,0 U = 422 - .25 - 22 - .88 - .21 - .21
L - .02 = Q7 Q - .04 - ,08 - ,08 L 03 - Q2 - 03 - 02 - .05
175 U | ~ .08 == — ——- J— -— 17.5 U | - .23 --= — — —_— ——
L] - 04 - ——— ——— —— — Ll - .18 - === — -
WING WING
Orifice Orifice
Loocation STATIONS Location STATIONS
Percent Percent
rd I A B [ D E Chord I A B c D B
6.0 U 0,28 =0,07 <=0,16 «0,25 ~0.07 =~0.08 5,0 U 0,10 =0.40 «~0,65 ~0.,56 =0.26 ~0,24
6.0 U = 26 = 07 ~ .18 ~ ,24 - 07 - .08 6.0 T - 08 - .16 - .38 -~ .18 =~ .18 - .28
L - (38 = .08 = .18 ~ . ~ 08 -~ .06 L +80 34 «28 22 «24 «56
7.6 © - 18 - .10 - ,18 « ,27 - 08 -~ .08 7.6 U - .24 - 35 - 32 -~ .32 - .28 - ,36
L - 14 - .09 m—— = 14 =~ 08 - 05 L «26 .30 ——— «24 27 «30
10,0 U - 404 -—— - .15 .08 = .13 - .12 10,0 U - 28 —— - W38 = .38 =~ .31 - 36
L - .02 ——— - .08 +02 — — L +£26 - «20 «20 — ——
12,6 T a - .16 - ,02 - .04 - .09 - ,03 12,5 T = 30 ~ 40 - .56 =~ .38 =~ ,33 - .28
16,0 U §| - 06 = 212 = .16 - ,09 = .16 - , 12 15,0 T | = 27 = 350 = ,44 =~ 35 =~ 41 = .38
17.6 U - .12 - ,26 - ,22 ~ .22 - .,18 - , 38 17.5 U - 30 - 54 -, - 54 = .42 -~ .86
20,0 U - +20 = .l8 -_—— - 14 - .10 —— £20.0 U = ¢85 = 38 w=ea = 356 - 34 -
L ——— - 408 -—— o] T o= 08 <04 L —— 03 —— 10 «10 «12
30,0 U - 4 = 18 « 15 -~ 12 - ,13 - .08 30,0 U - W28 = 30 - .89 ~ .26 - 825 ~ .21
L{=,00 =-,l2 - .,06 «~,06 ~ ,04 -=- L 028 = 04 <03 .04 05  wea
40,0 U | = .16 = ,18 = .12 = .10 = ,10 - .08 40,0 T | - .23 =- .28 - .22 .21 - 8 - 17
L - .14 = ,12 - ,08 - 068 = .06 -~ 04 L - 02 - .05 «01 02 Q2
50,0 U - J18 -—— - Llg ~ 10 - .08 -~ ,06 50,0 T - .22 - - o129 = 16 = .14 =~ .13
L | =415 «.11 - .07 = ,06 = .06 - ,04 L{=-.04 ~-,06 O ~ J0L «01
60,0 T = W16 - 14 - .08 = = L0 - 082 60,0 T - .19 = .20 - .12 -——— - 06 = 04
L - (1 = ,11 - 08 ~ 05 = .04 =~ ,0L L = 06 = (08 =~ ,01 Q +0L <l
7C.0 T -—— - o188 = 06 +« 08 " e-= - J01 70,0 U — - 21 ~« 056 - .10 — - 04
L - - .12 - ,02 08 = QL - 04 L — - 08 0L 04 - 02
73.0 U ——— —— —-——— - .08 - .04 Lo} 73.0 U ——— —_— —— ~ 10 - 05 - .03
L0 U — - W13 - 04 - ,04 —— 80,0 U - - .16 = 06 = 08 Ol - 04
L ——— - 10 - 0L +03 .02 3] L —— = .06 02 08 - 04 Q
85.0 U ——— - 02 +0L [s] o - 04 86,0 U —— -.12 - .02 - .05 o] [+ I
L — - 410 = 01 =~ 03 -~ .02 .02 L - 06 = 0L =~ .03 .02 08
80,0 T —— - <08 L0l - J0B .02 03 80.0 U - .12 - ,02 -~ .06 02 «02
L - = .08 0L =05 0 «04 L - 08 LOL - .03 «03 «03
@6.0 T —— -~ .08 7 02 - .UB 02 «O4 95,0 U — - .10 01 =~ .08 04 +03
L | === = 408 === =~ 03 .02 .05 L —e— = 06 =em = 05 .0f 04
lpyessure cosfficients tabulated sre defined as {pr~pl/a

..

-
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TABIE VI.- CONTINUED
SIAT a =8, SIAT aEip.2
orifice orifioe
Locatlon BTATIONS Location STATIONS
Percent Percent
Chord I A B c D B I A B [+] D B
o] ~0,64 -1,06 =1,21 -l.28 -1.37 -1.06 s} 2,26 =%5.,86 5,05 -4.95 5,54 -4,34
Q.26 U =1l,04 1,37 =1,14 =-1,82 =1.590 1,41 0,26 U =288 =5,78 =3.78 =4,88 4,786 4,22
L .08 0O - 402 = 04 = 10 a== L | = 68 =1,04 ~1.34 <=1,38 <1,68 «==
0.5 © —— =123 =L,fl ~l.46 -1l.45 -1.25 0,5 U — =28l =5,32 ~5,92 5,68 ~5.25
L 18 13 «25 08 .00 <14 L | =.16 = .49 =~ ,66 = ,74 = 85 = &7
1.0 U - .78 ——— -1,00 -1,18 =1,06 -1.16 1,0 U =1.59 -—— =2.45 =2,67 =g.,50 -2,85
L 018  wem «25 28 .19 24 L 012 - - 06 « ,18 = 12
1.5 U - .68 - ,86 —— - 50 = 84 = B9 1.5 U -1.38 -1,88 — =-2.,12 =-2,03 =2,04
L === .22 24 22 88 === L e 1 «18 .08 08 O
2.6 T = 460 = 68 = 83 = 74 - .73 - .80 2.5 U =l,14 =1.368 =l.44 =1.81 -1.66 -1l.62
L «13 .28 o221 «21 22 28 L <81 « 23 «26 +21 .18 21
3.6 T = o564 = B8 = 61 = 84 - 64 - 54 3.5 T - 88 =1,16 ~1l.26 =1,32 =1,31 -1,19
L .08 —— «18 «15 «19 —_— L «21 — «268 «22 «22 —
5,0 U = o48 « 51 ~ 52 = 54 - 54 = .55 5.0 T - 84 - ,96 =-1,06 1,11 -1,12 -~1,05
L - 02 «20 06 «09 «14 «10 L 14 «28 <18 <20 22 14
7S5 U = 40 = 49 - .44 -~ .48 - .50 = .45 7.5 U = +68 = 85 « .86 = 92 ~ ,98 - .86
L - +06 « 20 08 - 01 14 o 14 L 12 32 « 20 <18 24 24
10,0 U = 238 = 44 = 43 - (46 - 44 - 43 10,0 U = o828 = T3 - .78 - .82 - .77 = .77
L .09 -— o} .08 .17 19 L +15 « 54 «20 «29 24
15,0 U = oB6 = 40 = B7 = 44 - 40 - .38 15,0 © - J54 - .60 - ,64 - .70 - .88 - ,G6
L 08 - 01 O = W02 - 04 - .12 L L1l = 07 O = o0l = I8 = .26
17,8 U | = ¢85 oo — -_— — — 178 T | = B2 == — -— -— —
L |~ 24 w~== ——— — — - L | = .36 o= —-— -— - ——
wIHG WIRG
Orifrice Orifice
Location STATIONS Location 8TATIONS
Percent Percent
Chord I A B o] D B Cho: I A B 23 b B
6,0 U =0,228 ~0,18 =0,56 =0,32 ~0.14 =0.34 5.0 U -0,38 =-0,04 -0,56 =-0,26 ~0,16 =0,54
6.0 U =l = 22 = 40 - 4 - .29 = 45 6.0 T - 24 = 32 =~ 64 - 54 - 40 - .71
L «350 .58 28 24 «3L «38 L .32 42 «28 «25 « 30 32
7.5 T = W38 = 56 = 58 = 855 -~ .49 -~ 56 7.5 U -,56 - .80 ~- .86 -~ .84 - 73 - .85
L «33 36 ee= 24 «30 «30 L «368 [ e 26 «31 «29
10,0 U - 43 ——— = 57 = .58 = 52 -~ B> 16,0 U - .62 — = 856 = 86 - 76 - .79
L o350 ==- «25 B2 .- ——— L . .26 «26 wem —
12.6 U ~ .44 = 57 = .52 = 54 -~ 51 - .42 12.6 T = B8 = 76 - 76 -~ 7 - ,73 - .64
15.0 U - 238 = .48 =~ 57 - .50 - .58 - .48 15,0 T - 560 =~ .66 ~ .78 - ,70 - .82 -~ .68
17.5 T = A0 = T2 = 68 = TG = 55 «1,20 17.5 T - 52 -~ .94 - .94 -1.08 - .74 =1.57
20.0 T - .48 = .40 - - .48 = 50 ———— 20,0 T - 80 ~ 54 —— - .84 -~ .66 ——
L — o1l — 16 «16 .l8 L — <17 — .22 .21 <20
30.0 T = W32 = (36 = BE = 34 - 34 -~ 28 30,0 T “ oB8 o (A6 = 4T - 44 - 45 = 59
L 08 « 04 <10 <10 09 -—— L «18 12 +16 <16 «15 ——
40,0 T - o288 - .32 -, - o26 = 25 - .23 40,0 U - eB4 = 38 = 36 = I3 = 32 - .29
L .03 .02 07 «Q7 06 04 L <10 .09 «13 14 .12 08
50,0 U - .26 - - . - .18 =~ .18 « ,16 50,0 U - o331 ——— - 428 = .24 - .24 -~ .21
L +OL .01 08 «04 +04 .02 L .08 .08 +10 .10 .08 «06
60,0 T - .25 - .22 -~ .14 —— - 06 -, 60,0 U - «27 = 24 - 17 ——— - ,08 =~ ,07
L ] <01 03 0B «08 «O0% L «05 06 «08 «10 .08 07
70.0 U —— - 21 ~ 08 = ,l8 ——— - 05 70.0 U —_—— - o228 = 06 = ,13 - - 07
L ——— - 04 - 02 +08 o} L —— «08 .06 «08 «02
73.0 U - —— ——— - W10 ~ 08 = ,04 75.0 U ——— —— ——— - 1l =~ 08 = 08
80,0 U — = ol6 =~ 06 -~ 04 - .02 — 80,0 T ——— - o166 = ,08 = 058 = ,04 ——
L m——— = 03 «O4 08 - .06 02 L — <03 06 ell = .08 <04
86.0 T - - .10 - 02 -, Q 86.0 U — - o410 Q o] - 403 - 02
L ——— = 04 04 - L02 02 <04 L -— o 08 - 01 04 <04
80,0 U — - .09 - .08 .02 02 90,0 U — - .08 01 - .05 0 0
L m—— = 04 01 = 02 04 <04 L — [+} 05 - .01 <05 -04
86.0 U ——— - 08 02 = .08 «03 «O03 85,0 U —— - 07 02 = 06 .02 +0l
L — - 405 — - o402 « 04 .08 L — - 02 e - o001 .05 <04
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a ® 13,2 a = 14,2
SLAT SLAT
Orifice Orifice
Locatlon STATIONS Locatien STATIONS
Percent Percent
Chord I A B [+} D E Chord I A B c D B
] -2,90 -4.84 -8,47 -8.,22 o] -3.46 -6,01 -7,80 -7.48 -5.70 ~2.,50
0,856 U =5.87 -4.,66 =4.,57 -5.99 0.26 U =3.80 =5,68 «5,48 7,06 -4.40 -2,26
L | = 82 =l.46 «1.92 «l.92 L | =1.00 -1,96 -2.52 ~2,B0 =2,18 —
0.6 T e =Z.33 «3,06 =4.48 0,6 U ——-  =3,98 =4,86 -5,16 -3,66 ~2,06
L |- .34 -~ .76 - .90 -1l,10 L | = .48 =1,11 ~1,28 «1.49 ~1.,28 ~ .56
1.0 U -1l.88 —_— -2.80 =3.16 1,0 U -2.,12 ———— =3,36 ~3.61 2,75 =-2,0L
L «06 = a W17 = 24 L | - .03 ——= = 54 - 40 - ,40 -~ ,12
1.8 U | ~2,62 2,12 =~~~ 2,48 1.8 U | =180 «2,46 2 ~we  -2,78 2,44 -2,03
L —— .02 06 - ,04 L .= - ,08 = ,04 - 15 - 02 -—
2.5 T | =1.32 <1.56 =1.67 -1.86 2.6 U | -1.48 ~1,78 ~1,88 ~2,08 -2,24 =-2,00
L 21 +21 .22 «18 L « 20 .16 .18 «10 <15 «22
3.8 U | =114 -1.31 <-2.,45 =1,B3 3.6 U | <1,868 «1,60 -«1,82 =-1.,75 -2.,18 -2,04
L .22 — «26 19 L .22 -— «24 .16 24 em=
5,0 T.| - .96 1,09 -1,20 -1,28 5.0 U | ~1,06 =1,2 =1,36 -1,48 -1.88 ~g,07
L 17 «30 « 20 21 L «20 «50 22 «23 «28 17
7.6 U | = .78 - .88 - .98 =1,06 7.5 U | - ,88 -1,068 =-1,13 ~1l.24 =l.41 <~1.46
L .16 34 22 . L «20 «35 22 g -3 «30 28
10,0 T | - .70 = .81 - .88 = .92 16.0 U | - ,78 = ,92 ~1.00 -1,04 -1,10 -1,03
L «27 36 «20 L «3SC .38 O 20 «35 .26
15,0 U | = .61l = ,66 = .70 . w .78 15,0 U (= 66 - 74 - 76 - ,88 - .82 = .90
L QL = .10 - <03 L [=,08 «=.,15 0 - 03 = .28 - 39
17e6 U | = 87 === —— ——— 17,8 U | = 88 —e- -— — — —
L | = .41 ~-- - —— L | = 44 -=- — —— - —
WIKG WING
Oririce Orifice
Location STATIONRS Loostion STATIORS
Percent Peroent
Chord I ' B a D B I A B c D B
5,0 U | -0.48 -0.,08 -0.,86 -0.38 -0,20 -0.B58 5.0 T
84O T | = ¢88 = 34 = 88 = 61 =« 456 = 77 6.0 U
L <32 42 .26 23 «30 «30 L
78 U - 64 - ,87 - 94 - .92 - .80 - .04 T8 U
L «39 40 o= 25 32 «28 L
10,0 U | = .87 m—— = L82 - .92 - B0 - .84 10,0 U
L « 38 —— «26 e85  w=- ——— L
125 T ]| = o84 = .80 = 81 =~ .84 - .77 =~ .88 12,5 U
15,0 U - 54 = .68 = ,B4 - .76 - .86 - ,72 15,0 U
17,58 U [ = 85 = ,98 = ,99 =1,16 =~ ,77 =1,80 17,6 U
20,0 U [ = i85 = 87 == = 70 = 70 == 20,0 U
L —— <19 —— .22 «22 «20 L
0.0 T | =~ 40 = 45 =~ B0 <~ .48 - ,46 = 41 30,0 U
L .18 14 18 « 17 18 ——— L
40,0 U ~ W36 - 3% ~ 36 - ,TE - 32 - B0 40,0 U
L 13 12 14 «13 14 .08 L
FO,0 U | = 38 o= - o300 = 425 - .24 - .21 50,0 U
L «10 «10 T,12 «10 10 .08 L
60,0 U | - .28 - .85 =~ .17 -== = .08 - ,08 60,0 U
L .08 «08 09 «10 «10 07 L
70,0 U —— = W22 = 06 - A4 ~e- - D8 70,0 U
L —— 02 T .09 04 «10 .02 L
73.0 T —— —— —— - 12 = .08 = 07 73.0 U
80,0 U -—— =18 = 09 = ,068 - 06 - ,04 20,0 U ——— = L1868 = 08 =~ 07 -~ 05 - .06
L - 03 «06 «10 = .08 «04 L - 02 <06 J0 = 04 «O%
85,0 T - - 408 = 02 - 02 - ,08 - 04 85,0 U —_— = ,ll - ,02 - .04 - .02 - ,08
L ——— .01 .06 = 02 «O4 04 L —— 02 08 =~ 02 .08 +O4
90,0 U wmm = 08 « 0l = 07 = 0l = .03 80,0 U - = ,10 = 02 ~ .08 - .01 =~ .08
L ——— <01 06 ~ .02 .05 04 L ——— o 04 - .02 07 04
96,0 U —— = 08 - 07 Q2 - 0L 25,0 U — - «08 - .08 .02 « 05
L = o g0) me= = 02 .05 <04 L ——— = 02 == - 02 .08 .05




NACA RM A52A1ka AR 27
TABLE VI.~ CONTINUED
SLAT e = 15,2 SLAT a = 16.2
Orifice Orifice
Loecation STATIONS Locatlon STATIONS
Percent Percent
I A B [+ D B Chord I A B a b B
[»] -4,13 7,04 =7,68 <3.64 -l.61 =1.3%0 [} -4,71 7,64 -2.,46 -1.57 ~1,00 =0,67
0.25 U | =4,40 0,26 T | -4.92 =5,62 -1,96 =-1.30 -~ .86 = .62
L =l.44 L =l.72 -2,88 -1.50 - .88 - .54 ——
0.5 T 0,5 T -4.98 =4,60 =1,96 =1.30 - .84 - .58
L | =1,09 L|=.88 «~l.74 - .82 - .54 - .26 =~ ,08
1,0 T -2.40 1.0 T -2.58 ——— =-2.,00 =-1,28 =~ .84 =~ ,56
L |~ .12 L | = 422 === = .20 -~ ,02 04 <12
1.5 T -2,04 1.5 U -2.,17 -2.,72 — -1.,28 - .84 - ,56
L L o - 30 <04 s} <21 -——
2.6 U -1.86 2,6 T =1.76 =R.20 -2.21 -1.28 -~ .85 -~ BB
L L +18 08 «L2 22 «26 « 24
S.6 U -1.41 3.6 T ~l.49 ~R.16 =-2,28 =1.,29 -~ .B5 - .59
L 26 L 24 tat «26 «24 +£8 —
5,0 U ~1l.18 6.0 U -1.26 =2.02 <-1.96 =1L.50 =~ .84 -~ .56
L L «26 «30 «26 «26 28 «16
T U - .97 7.8 U =1.04 =1,62 «l.B5 -1l.,32 - .82 - ,58
L L «28 « 37 «26 - «50 .27
10,0 T - 10,0 U = o822 =l,27 =1l,46 ~1.38 - .82 - B8
L L «34 «38 02 22 «36 «€7
15,0 U - 15.0 T = 76 = .88 =1,35 =1.33 - .82 - .59
L - L - 04 =~ .20 W02 = ,06 = .28 - .26
17.8 T - 17,6 T - 70 — —_— — — —
L - L = «60 — —— —— ——— -
WIRG YWIiRG
Orifice Orifice
Locatlion STATIOKS Location STATIONRS
Parcent Paroent:
I A B [ D B €ho I A B 4] D E
50 U =0,78 =0,28 -0,92 =0.84 =0.54¢ =0.74 5.0 U -0.93 -0.38 -1,38 -0,98 ~0,50 -0.49
6,0 T - 38 = 44 - 80 -1,01l - .84 = .05 6,06 T - <43 = 48 -l,20 <l.,12 - .68 =~ .66
L «35 42 <268 «24 58 «4 L «54 «40 2% «B4 «33 -2 3
76 U - .8l 1,04 ~1,08 =l.,42 =1.38 -1.l14 7.5 U - 89 -l.,068 -1,54 -1.60 -1.02 - .82
L 43 «40 —— <29 34 «32 L «42 «40 — «£68 «38 + 31
10,0 T - .78 ——— =1,00 =1,06 =~1,12 - .85 10,0 T - .86 — -1,18 =1.,38 =1l.02 =~ ,70
. A o4l  eem «28 «F0 === — L «39 === «30 e29 == —
12,5 U - o772 = 91 - .88 = .85 - .8l =~ .60 12,6 U - aT7T = 956 = 97 =1.03 - ,78 = ,52
15,0 U = o858 = T8 = B0 = 75 = .79 = .65 16,0 U - 462 = 828 - .93 = 92 = .80 -~ 55
17,6 U | = o568 1,10 =1,08 = ,90 = .74 = .82 17,6 T | = 460 =1l.13 = .95 =~ ,78 = .76 =~ .82
20,0 U - 66 -~ .74 _—— = 65 = .87 — 20,0 T - <88 ~ 77 — - T2 = 66 -
L — 22 === «27 «26 «23 L ——— 23 - «26 22 .22
30,0 T = 42 @ B2 = B4 = 46 - 56 = .42 30,0 U = odd = 56 = 856 = 54 - 583 ~ 40
L « 24 .16 « 2L 22 «20 - L «26 .18 22 . «19 ——
40,0 T = ST = A2 = 30 = 36 ~ .46 - .39 40,0 T = o538 = 44 = 42 = AT - 80 =~ 37
L .19 14 <17 .18 17 o1l T «21 +16 «18 «17 .16 08
500 U | = ¢34 === = ,30 = .87 - .32 - .38 50,0 U [ = 435 === = 34 =~ ,40 = ,57 = ,38
L +16 12 <156 «15 «13 08 L <17 «13 .16 .14 el2 «086
60,0 U - .28 = .26 =~ ,18 —— - 10 =~ .18 80,0 U = 230 = .26 = 8l —ee- - 82 -~ .28
L <14 «10 12 14 .12 08 L «15 W11 «13 12 +10 Ok
70,0 U — - o283 =~ 07 - .14 —— - 27 70,0 U ——— = 24 = 10 = 26 ow-- ~ .48
L — 04 .12 .08 «11 02 L - Q4 12 +08 08 = 05
75,0 U ——— — ——— - .12 = 10 - .27 73,0 U —— <03 08 = 84 = .20 -~ 54
80,0 T ——— - 17 = 08 - .08 = .06 - .19 80,0 U — = .18 = .08 - .20 - .21 ——
L o 04 .08 15 - 08 02 L — <04 <08 12 = 18 - 04
85,0 U - W12 = 028 - 04 = .06 = ,16 85,0 U — - .14 - 04 = J1& - 20 =~ 41
L 01 08 - 02 05 02 . L _— .02 08 - ,02 08 =~ 08
80,0 U - oll = 0l - . - 408 - .12 0,0 U — - W12 = ,0& « JI5 = ,18 =~ 35
L +08 - .02 05 <01 L -_— .01 04 = 02 Ol =~ 07
95,0 T —— - L0989 Q - 07T = 0% - .08 95,0 T — = o100 = 02 - 16 - 16 ~ .28
L —— - J08 —— - 02 +Q4 ) L —— - 02 - = 02 = 02 ~ 10
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TABIE VI.- CONTINUED
a = 17,2 c = 18,8
SLAT SIAT
Orifice Orifice
Location STATIONS Location STATIONRS
Percent Percent
Chord I A B c D E Chord I A B c D E
o] “5.,43 «4.66 ~2,05 =Ll.08 -0,84 =0.,51 [+] =6,35 =2.17 -=l.71 =0.92
0,88 U | «5,60 =3.84 -1.,66 1,07 « ,72 =~ .47 0.258 U | =8.45 =1.91 =1.,43 =~ .88
L o8 - 47 ee- L | =-2.64 ~1,82 ~l.22 = .66
0.5 U - TR - W44 2.6 U - -l.87 =-1.45 - .88
L - .22 - .02 L -l,41 -~ .96 -~ .68 -~ .38
1.0 U - W72 = 44 1,0 U | =3.20 === -1,51 - .88
L .04 13 L - 46 —— - .16 <04
1.5 U - 72 - .44 1.3 U =2.86 =1.,82 -—=e= - .87
L o282 —— L ——— - .08 08 .13
2.6 U - 72 - 44 2,56 U -2,1l2 -1.84 -1.60 =~ .87
L «26 «24 L 14 +16 « 23 W25
S8 U - JTR = 43 5.6 U -l.8l =~1.,87% =~-1,866 =~ .87
L 28 - L 26  ==- «28 «28
5,0 U - 72 « 46 6.0 U =1.58 <l.92 «~1,58 = .87
L «27 .16 L «30 «38 . «26
7.6 U - 72 = .48 7.6 T =1,29 =2.,04 -1l.42 - .87
L «28 «26 L 34 «37 +£8 «25
10,0 U - T2 = 45 10,0 U -1,12 =~2.82 -1.34 - .88
L oS4 28 L «37 .38 0 «24
15,0 U = JTL = 46 16,0 U - +91 =1.96 =l.24 -~ .88
L - .17 - .18 L - 08 = .66 4] - 04
17.6 U ——— ——— 176 T | = 84 === —— —
L — — L - 460 —— —— —— —— -
WING WINGS
orifice orifice
Loocation STATIONS Location STATIONS
Percent T : Percent
Chord I A B o D B Chord I A B c D B
5,0 T «)e04 =048 <1l.,52 =0,835 0,22 =0,39 6.0 U =l.,14 =0.88 =1.43 ~0,61 =~0,12 =0,34
6,0 U | = .42 = B0 -1.290 -~ .86 - .47 - .54 6,0 U | = .64 = 498 ~l.80 = T4 = 35 = .47
I «32 «40 «22 «26 «32 34 L «30 38 «28 «26 33 «35
7.5 U =1.,00 «l,14 -1l.88 =1.40 =~ .86 = .67 78 U -1l.10 =1,88 =1.,80 <1,11 = .89 = .60
L 59 .40 —— «28 34 «31 L 40 «40 — «29 «34 «32
10,0 U - .04 -— “l.35 «1.34 = .88 -~ .59 10,0 U =-1,082 — ~1,31 -1l.08 ~ ,72 =~ .62
L [ .28 eS80 ——- — L 40 == «30 30 e—= -——
12.6 U - o84 =~ .96 =1,16 <~1l,16 ~ ,72 -~ .46 12.6 U = 4890 = 06 =1,20 = .95 = 81 - .39
1.0 U = 466 = 85 =1,10 1,00 ~..74 = 50 15.0 U = 70 = .82 ~1,28 - 090 - 64 - .44
17.6 U = 64 =1,16 ~1,00 - .96 ~ .70 - .89 17.5 U = «66 =~1,05 =1.16 =1,26 = 69 - .84
20,0 U - 470 = .81 —— - .80 - .83 —— 20,0 U - 75 - .81 ——— - .82 - .62 ——
L - «24 —_— <26 24 « 2% L — «2B — « 56 «24 22
30,0 T m 48 = B8 = 67T = 66 =~ 54 - 36 30,0 VU - B0 = B2 - T4 - 64 = .52 - 54
L «26 «18 21 21 18 —— L «28 «20 22 «20 .18 —
40,0 U = 45 = 47 = 86l - 61 = 50 = ,31 40.0 T - «46 = ,61 - ,84 <~ 62 <~ 40 <~ .29
L «20 16 <17 - 16 «l4 07 L «24 .18 «20 18 - .08
80,0 U - .38 — - 42 ~ 54 - ,B58 - .30 §0.0 U - 40 —— - 586 - ,858 =~ , %0 =~ ,28
L .18 «13 14 «13 «10 <04 L «20 .16 «16 12 08 04
60,0 T | = 34 = .28 = 2 === = .28 = ,30 600 T | = o368 = 22 = .34 === = 30 = .30
L +16 «12 o1l o1l +06 .08 L .16 18 «14 10 .06 02
70.0 U —— - 426 = 14 = 44 ——— - 44 70.0 U —— - 28 = (17 -~ 59 - - «354
L —— <05 «10 08 «05 = .08 . L —— Qb «11 «08 02 = 08
73.0 U —— = me= = 48 = 50 ~ 5O 75.0 U ——— - - 60 = 52 = 37
80,0 U - W2l = 12 = 36 =~ .40 ——— 80.0 U = B3 = oAb = 52 = 48 = 3%
L «04 «Q6 10 = (26 - .08 L «04 .08 08 = ,28 = ,10
86,0 W = .18 = ,06 = ,27 = ,38 <~ .45 85.0 U = 18 = 07 = 42 = 48 = 43
L 02 .06 - ,04 - ,03 - .10 L 02 06 - 08 - 11 - .13
90,0 T -——— = el = 08 = 228 =~ 35 =~ 45 80,0 U = qlf = 06 = .27 = 48 = 49
L ——— 01 W05 = 04 ~ ,06 - .12 L 03 = ,08 = 14 = 17
85,0 U —— = lg = 04 = 23 = 31 = .41 96,0 U — = e1E = (04 ~ 27 - B2 =~ 88
L —— = o0 —-——— - 04 =~ ,08 = .18 L - - .03 - = 06 = .22 = .25
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TABLE VI.- CONCLUDED

ax 23,3 a = 27,3
SLAT SLAT
orifice orifice
Location STATIONS Location STATIONS
Percent Percent
Chord I A B =3 D B Chord I A B (] D E
4] «1,98 <=1.18 =0,74 =0,49 =0,36 [s] =1.79 <=1,00 -0.,66 =0,50 =0.38
0.25 U =1,73 =1.04 = .69 - .44 -~ .34 0.25 T «l.68 ~ 80 -~ ,62 = .46 - ,36
L | =5,13 =1.72 =1,06 -~ .62 ~ .38 — L | =7.06 ~l.80 =1,04 = .66 = .46 ===
0.6 T —-—— ~1,68 =1,04 - .68 = ,44 -~ .32 0.6 T — =146l = 90 = .60 = 46 = 35
L | =512 -1,18 ~ ,62 ~ .40 - ,16 -~ ,0B L | =4,42 =132 = 85 = 46 =~ 27 - .14
1,0 U | -4.,62 ——— 1,02 = 67 = .44 -~ .33 1,0 U | =5,75 == = .88 =~ .58 = .48 - .38
L | =1,38 ==- - .18 «01 «O7 Pi-) L | =2.,00 - =-,18 - .05 O <04
L1eB T | =3.71 =160 =w- = 66 = 44 =~ 33 1.6 U | =5.16 -l.44 ~== - 88 = 46 - .36
L —— - <20 06 o1l " e85 == L ——— - +30 .02 .08 «18 —_—
2e8 T | =3,18 «l.60 =L 00 = 86 = 44 =~ 33 BB U | =4.86 ~1.43 = .87 = .68 =~ .48 = .36
)73 - J15 «10 «24 <23 27 268 L - «25 04 22 « 235 <24 24
35 U | -5,00 =1.59 =1,00 = .66 = .44 =~ .33 Bs5 T | =4.78 =143 = .87 = ,58 = 46 - ,38
L «10 —-— «30 «26 oS50 - L - — «28 «27 «29 ———
.0 T =283 =1.58 =~1,00 = .86 = 44 =~ .34 5.0 U wh (55 =L 43 = 87 = 58 = .46 =~ .35
L « 30 « 38 « 33 +30 «31 20 L «55 «40 «36 «35 34 «21l
7.5 U | -1.80 <1.60 =1,028 = .68 - .45 =~ . 35 7.5 U | =2.7T4 ~1,43 = ,88 - 80 = .45 - .36
L «40 «45 «33 «30 «33 «32 L «56 +48 «36 «38 «36 «33
10,0 T | =1,48 =1,62 «1,05 = .67 = .46 = .56 10,0 U | =2,18 «1,43 = .88 = .61 =~ .46 =~ .38
L <40 «45 <01 « 28 «57 32 L «BL «50 © 32 -39 «83
15,0 U | «1e32 =1.61 =1,01 = .86 =~ .45 -~ 387 18,0 T | =1,88 =1l.42 = .88 o 6Ll = 46 - 37
L |- .18 = .60 01 - 02 - .04 =~ .10 L] ~-.28 -,562 O o] - 04 =~ .10
17.5 U | =122 ~=- -_— — -— _— 17,5 T | =1l,78 --- -— -— — —
L | - .88 —_— - — — — L | =186 --- — —-—— —_— ——
WIKG WING
Oritice orifice
Loeation STATIONS Location STATIONS
Percent Percent
Chord I A B [+ D E rd I A B [+ D B
6,0 U | -1,56 -0.,92 =1.18 ~0.44 -0,04 -0.28 §,0 U | -1.82 =-0,84 -1,08 -0.,45 =0,07 =0.28
6.0 U | = .76 = .96 = ,94 = .64 - .26 -~ .42 6,0 T | = 92 = ,82 = .82 = 48 ~ 26 =~ 43
L 24 43 <28 .28 « 56 +56 L 21 44 «3Q - 352 «36 «36
7.5 U | =1.,53 -2,04 <-1.34 -~ .84 - .66 - 64 7.5 U | =1.95 1,84 =1.19 = 78 ~ 56 - .56
L o4l «48 — 30 «37 34 L «42 48 —-—— « 55 .38 «36
10,0 U | ~1.45 - -1l.16 - .80 - .56 - .47 10,0 U | ~1.83 -_— =107 - 75 =~ .58 - .48
L «46 — -36 eBR === —-— L 48 _— <37 «36 — ——
12,6 T | =1,28 ~1.67 +~1.03 - .73 - .48 - .36 12.8 U | «1,8%F =1,55 = ,97 = ,68 =~ 52 - .37
15,0 U = 486 wl 468 =l,I2 = 70 = 53 - 42 16,0 T L3 =1.40 =1,08 = 67 =~ 58 - 44
1785 T | = 84 =165 ~l.24 ~l.11 = .53 - .86 7.6 U | =l.34 =-1.70 ~-l,17 ~1.,05 =~ .64 - .8¢
20,0 T | - .86 =1,21 —— = 74 - .48 —— 20,0 T | =146 =1.26 === - 67 = .49 —_—
L —— «35 —_— .28 «28 -26 L —— «40 — « 54 oSl «28
30,0 U | = 70 =1,02 = .79 = .80 - .48 = .38 30,0 T | =10l =1,04 - 78 = ,80 =~ .51 =~ .38
L o4l «30 «27 «23 «21 ——— L «48 34 «3Q .28 «24 -——
40,0 U | = 82 = .94 = .68 = 5l « .38 = ,35 40,0 U | - ,84 - ,96 =~ ,64 =~ .55 ~ .48 = .36
L 36 «27 .25 18 16 «ll L o4l «30 «28 24 «20 15
50,0 U | = 54 =w=- - 75 - 48 - T - 3 80,0 U | - .76 —— = o685 = 50 « 44 =~ 34
L «31 o 24 «18 <12 «10 <07 L «36 «26 «20 o156 14 <11
60,0 U = 48 = 468 = T == = 34 = 32 60,0 U | = (66 = ,84 = 87 =—== = .38 = .32
L 26 « 20 14 .08 07 05 L 29 «23 «13 14 «10 «10
70,0 U ——— = L4l = 3l - .60 — « 34 70.0 U m— = T8 = 44 = 56 = - 34
L —— 12 «11 «02 OB - .04 L — 14 .08 «04 «06 +O1
73.0 T —— -— e = o854 - ,AF - .36 73.0 T —_— —— ——— - .48 = 44 - .34
80,0 U mm— = B4 = 5T = 60 - 43 — 80,0 T —-—— = Bl = T2 = 55 = 44 - 34
L —— o11 «05 = 0l = .29 = 06 L «l0 = 02 06 = 53 - 02
86,0 U — = 28 = 40 - 56 - 61 - 38 85,0 U = B0 = .62 = 55 - 46 - 34
L - 08 08 - 11 ~ 15 - .08 L 08 - .08 - 14 - ,08 -~ ,04
80,0 U - - a2 = 38 = (35 - 57 =~ .40 90,0 U - 48 = 54 =~ 40 - 43 - 34
L ——— 04 - 04 - .12 - .18 - .12 L ——— 0l - L1686 = 14 - .11 - .07
95,0 U mmm = (B8 = 30 - 5 - 66 = .40 86,0 U -—— = o386 = B2 = 40 - .46 -~ .33
L - - 401 ——— = 1)l - .26 - ,18 L m——— = 06 me= = 14 = 17 - ,12




30

TABLE VII.~- TABULATED PRESSURE COEFFICIENTS! FOR THE WING WITH

NACA RM A52A1ha

LEADING-EDGE SLATS EXTENDED AND WITH DOUBLE-SLOTTED FLAPS

DEFLECTED 55°.

R = 8.0 x 10°

. BIAT € =-e.0 814t T =gl
fFiTice
Orifice
orirdee BTATIONS Looatic STATIONS
Pasroent a
Chord I N B a D " (hord I A B a D E
) [«]
0.28 U 0-”‘:
L
08 T a.5 1
L
1.0 E 1.0 g
1.6 T 1.8 b
L
2.5 U 28 7
L
8.5 U 3.8 g
L
8.0 © 6.0 E
L - 01
7.8 U 7.5 g - .Glg - 08
T -0 - .06
10.¢ U 10,0 U - .12 - .10
b L - 07
16.0 g 15.0 g = .18
- 410
176 U 7.8 ¥ ==
L ] =
wing wING
orifice Opirice
Looatfon Loocation STATIONS
Porcent Poroent
>d I A B [+ D b 3
8,0 U 5.0 ©
8,0 g 6,0 g
Tl g 7.8 U
L
106.0 E 10.0 U
L
16 U 12,3 U
wo v 52
5 U -
20,0 ¢ 2.0 7
L
50,0 U 30,0 1_'“.
L
40,0 U 40,0 g
L
50.0 T 80,0 g
L
80,0 E 80,0 E
70,0 T 70.0Q 111"
L
75,0 U T3.0 U
80,0 U 80,0 E
L
8.0 U 88,0 g
L
g0, 0 U 80,0 'g
L
95,0 T 95,0 T
L L
FORE PLAP NAE TLAP FORE FLAP . MAIN FLAP
grifios Qrifioce Opifice Orifice
Looation, STATIONS Location STATIONS Laoatl STAYIONS Location STATIORS
end | a3 Thora | 2 a | |oemee oy
A B Chord A 3
1g T 7B.0 0.0 Q =1.30 1,16 76,0 =0,% 0,07
» T6.26 U 1.0 U -2.94 1,504 75486 U| === —
L - .44 L «28 18 L — - .28
2.0 U 78.86 ¥ - .0 20 U =BeT3 =183 78,5 D] - .84 04
L - .58 L «39 <12 L 14 = L13
3.0 78.0 U - .89 5.0 U ~2.44 -1.22 76,0 U] - .82 - ,0L
L - 08 L «35 14 L «54 10
4.0 ™ u
o & - .64 4.0 U =-1,78 «1,01 T.E Ul =1.34 +68
5.0 L o 14 L I L 43 30
. 80,0 U — 80 U =1.38 =~ .96 80,0 Tl ~ .98 w=em
L .186§ L «20 08 L «43 3R
6.0 ae.5 T -— 6,0 U -1,08 <07 82,5 U| - .74 -~
25.0 % .;l‘g L == Q L «40 «35
. - o B8,0 T| = 50 = .36
L 24 L «36 «33
90,0 T - 04 20,0 T| - .40 M
95 § 32 .0 B -5 -3
' - . a' - a -
L .ig pA +38 JEB
lrresswrs coefficients tabulated are defined as (pz-pl/q W

i .
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TABLE VII.- CONTINUED

STAT a=g,2 SLAZ € < 10.2
Cririce Orifice
Location| STATIONS Location STATIONS
Parcent Parcent
I A B [+ D E Chord I A B c o E
Q Q =T.18 «7.01
0,25 T 0,25 T 4,99 =8,62
L L -Z.24 =B.31
0.5 U G5 U -4£.20 -4.82
L L =1l.10 =1.3%
l.0 U 1.0 T ~Z5.08 =3.38
L L - 28 - 57
1.6 T 1.8 T ——a =2.61
L L -0l - 14
2.8 U 2,5 U «1,79 ~1.94
L L +18 .
3.8 U 3.5 T =-1.66 =1l.84
L L «83 <14
5.0 U 5.0 T =130 =-l.46
L L «25 «20
TS U 7.5 T =l.08 =1.31
L L «B .
0.0 U 0.0 U - .88 1,14
L L <08 <18
16.0 U 15,0 U - .82 - .93
L L S8 - 02
7.5 U 7.8 U —— ——
L L — ——
TING YING
Orifice Orifics
Locatlon STATIONS Looatilon STATIONS
Percent Percent
I A B ¢ D E Chord 1 A B [ D B
5,0 U | =0.,24 =0.,18 ~0.72 =0.,38 8.0 U =-0,32
8.0 T ——— - .50 — - <60 6.0 U
L 38 A2 «24 «20 L
7e8 T | = 42 - .86 -~ .98 = .88 76 U -
L «38 - — 28R L
10,0 U - «49 ——— - 88 - .94 10,0 T | -
L «57 — «25 22 L
18,8 U | = .60 - .84 = 80 =~ .88 le,56 U | -
15,0 T | = 44 = .74 =~ 8% = .83 15,0 T | -
17.5 U | - .46 <1.08 =1,15 -1,28 17.5 U | =
20,0 U | = 88 = .75 — = .78 80.0 U -
L «13 22 == 18 L
30,0 U} = .38 = .61 - .68 ~ .58 3.0 T -
L «18 <18 «20 14 L
40,0 T | = 36 «~ .58 = .68 - .49 40,0 T | -
L ' 14 19 28 . L
50,0 T | - .38 — - 58 - .42 80,0 U | -
L — «20 .18 a7 L
0.0 T = o35 = 88 - .48 - .32 0.0 T - <37
L <16 .22 .18 .08 L <18
70.0 T — = .88 «~ 856 = .Z1 70.0 U ———
L —-— «85 .18 L —
73.0 U —— — — - .28 7.0 U -— — — e B30 = 16 - 13
80,0 T ——— = B = 84 - 21 2.0 U —_— - .02 = 58 = 22 = ,10 ~ .08
L — 028 = 13 L4 L — .05 - .11 L8 - 08 - .02
85,0 U ——— - +17 85,0 U — - .18 = 08 - .07
L — et L — 4 08 ~ 0%
0.0 U —— - o14 80,0 E — - ol - 06 - 05
L —— .02 _— 04 04 = 02
95,0 U — v 5.0 ¥ — mom - 05 - 04
L = <08 L — O 04 - 02
FORE FLAP MATK PLAP FORE FLAP MATS FLAP
Orifice Orifice orifice Orifice
Location STATIONS Location STATIONS Location STATIONS Loostion STATIONS
Percent Fercent Pexrcent Percsnt
A B Chord A B Chord A B Chord A B
] =l.41 =1l.19 75.0 -0.28 0.08 ] =1,34 =-0.92 T5.5 -0.85 0,18
1,0 T | =2.84 <=1,70 TE,L6 T | === — 1.0 U| «2.7¢ -1.84 76.25 U| === —
L W52 24 L| === = .84 L 39 14 L| cee - .2
2,0 T | =278 =1.,43 75,6 U |~ .82 .08 2.0 U] -2.58 -1,31 75,5 U] - .58 J1%
L 43 11 L 18 = 10 L o4 «10 L Jd8 - 10
3.0 U | -2.44 -1.13 76.0 U |- .80 - .87 3.0 U =-2.30 ~1.03 760 T| = 78 = 79
E «40 olf L «58 18 L . - L 57 «1Q
4,0 U | =1, 78 = %4 T7.6 U =150 = 70 4.0 U] =1.64 - .84 TT.5 U] -1.22 - .80
L oSt e L «4T «28 L «38 — L 45 829
80 U | -1,32 - .89 80,0 T |~ .88 w— 5,0 U] -l.24 - .81 800 U| = .82 a==
L «26 08 L «48 «31 L +26 <07 L 45 %18
6.0 T | - .98 «08 82,6 U |~ ,64 — 6,0 U = .91 12 82,6 Tl =~ 58 wne
L ——— <01 L oib 38 L| w== [} L o4 57
85,0 U |~ .50 = .38 88,0 U| - .45 - .30
L «4L «38 L «42 «35
90,0 Tl- .55 = .28 90,0 U~ 30 = .19
L N 25 L 59 «27
85,0 U|=- .28 = .10 5.0 U| - .24 - .08
L 25 «23 L .28 .28

%'
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TABLE VII.~- CONTINUED

SLAT c ® 1.8 SLAT a = 19,8
orifice Orifice
Location STAPIONS Locatlon STATIONS
Percent Porcent
Chord X A . B 4] . b E Chord I A B ¢ D k
V] ~2.48 -8.96 -9,30 -9.22 -£.59 -1.88 [+]
C.25 U %} 0.2 ¥
L L
8 U 0.5 U
L L
1,0 U 1.0 T
L L
1.6 U 1.6 U
L L
2,6 U 2.8 T
L L
3.8 U 5.8 U
L L
B0 U 8.0 U
L L
7.6 U TS T
L £26 L
10,0 U | = 88 = .88 =~1,16 -1.27 -1,72 «l.08 10.0 U
L «£28 « 37 [+] <19 «3% 22 L
18,0 T | = .61 = .84 = .58 «1,05 -1.156 « .93 16,0 U | = .85 « .90 -1.00 =2,15 -1.42 -1.04
L c - W19 0 O = 32 - 42 L|«, 1 ~. - 04 =~ - of
17.6 T | = o68 === - - — — 17,5 U | « .88 == —— — e - .
L | = o4l == — — — — L | - 48  ~-e —— — —— —
wNG WING
orifice orifice
Looation STATIONS Looation STATIONS
Percent Percent
Chord 1 A B [ D E Ghord I A B o D x
5.0 U | =0,48 =0,32 -1,08 =~0.78 =0.38 ~0,76 5.0 U [ =0.60 =0.40 ~1.18 -0,86 -0,78 =0.83
8,0 U ——— - 48 - - 80 = .63 = .89 6,0 T — - 51 ——- - .88 ~1,06 =1,08
L 33 «40 22 .18 +26 «28 L 30 41 «2) .18 24 «50
7.6 U [ = ,80 ~1,090 =1.24 <1.18 =1.04 -1,18 6 T | = 60 =1,18 -1.32 =-1l,24 =-1.68 =-1.89
L +40 «&0 — «20 . . L
10.0 T | = .66 ——— =1,81 =~1,18 = .92 = .99 10.0 T
L o0 w-- o827 - WPR eme= — L
12,5 U© - 65 «1,02 =1,08 -1.08 ~ .84 - ,TE 12,6 €
16.0 U - o564 =~ .89 =1,01 - 99 =~ 86 =~ .73 15,0 0
175 U | = (86 1,28 =1,3%3 ~1.50 = 856 1,14 17.86 U
0.0 U | =« ,68 = 89 «or = B84 = T —e= 20.0 g
L
30,0 U 30.0 U
L L
40.0 U 40,0 T
L L
50.0 T 50,0 U
L L
¢0.0 U 60.0 U
L L
T0.0 U 70,0 U
L L
78.0 U 75.0 U
80,0 U 80G.0 U
T L
86,0 U 85.0 U
k1 L
80.0 U §0.,0 U
L L
95.0 T 96,0 U
L L
FORE FLAP MAIN PLAP FQRE FLA
orifice Orifice orifice
Loogtion BTATIONS Loosation STATIONS Locatlion
Peroent P t Peroent
Chord A B Chord A B Chord
4] -l.88 -0.88 78,0 =0.24 0,10 [»)
1.0 T | .68 ~1.80 T5.26 U} == -— 1.0 ¥
L 32 .18 L[ == - <24 L «33 14 L| === - .08
2.0 U | -8,48 =-1.29 75.56 T )| - .54 «10 2.0 U 2,46 ~1.88 78.6 U] - .55 «10
L 43 «06 L W8 - .11 L . 17 L Jg - 20
3.0 U | =82.20 ~1,01 76.0 U= .72 = .78 5.0 U | -2,18 =~1l.00 6.0 U= 70 « .78
) 10 L «38 +10 L <10 L 38 el
4,0 T | =l.86 =~ . 7.5 U|-1.18 =~ .80 4.0 U | ~31.55 -~ .81 T?.6 U{ ~l.17 - .62
L — L - - L 1] — L 46 .
50 U ~l,19 -~ ,78 0,0 U} - .80 —— 5.0 U -1,18 = .78 80,0 U{ - .AD —
L .28 204 L «46 «30 L «28 «04 L 48 31
6,0 U | - .88 «10 2.6 U| ~ .56 ——— 6.0 T |- .87 10 82,5 U\ - .56 —
L —— - 404 L ot 38 T -— - 04 L «46 7
85,0 Uf - .44 =~ .50 65,0 U] - .44 - %0
L 42 32 L 43 «33
90,0 U~ .20 = .20 90,0 U{ - .88 -~ .20
L «37 -] L .38 .85
95,0 Ul - .24 = .07 85.0 U]~ .23 - .07
L «27 24 L 34 24
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BLAT T = 14,3 SLAT a = 19,3
orifice Orifice
Location BTATIONS Location STATIONS
Percent Parcent
Chord I 3 B [ D B Chord I A B c D B
] 4,56 ~9,26 =-2.20 -1l.48 -1.08 -0,70 Q “T,45 =2,38 =1,66 -1.06 -0.,81 0.2
0.8 U | =4,60 «7.87 ~l.98 -l.45 FT -, Q0,287 | =7T.50 =-2.20 =1,60 =1.01 = .76 ~ .61
L | =1.56 =3.68 1,78 =1.,38 = 72 === L =3.81 =1l.98 =-1.53 - .98 - .68 —
0,8 U —— =B.,52 =1.,98 =l.44 - 9 - 84 0.6 U —— 216 =149 =1.00 = 7B -~ .60
L | =70 -2,88 -1.07 - .81 - ,42 - .18 L =1,B2 =1.57 = .98 - ,72 - , - «825
1.0 T «2.50 awe  «1,88 =l.42 - .94 - 64 1.0 U -3.84 — =l.48 - .88 =~ .75 -~ .60
L |=.19 -— -.,38 =-.19 .- .,08 .05 L |- .68 == - .35 - .18 A2 - 04
1.5 T -2.12 =3.16 — =-1.48 - 94 - 64 16 U | =3,05 «£2,15 = - 87 = T4 - B0
L ——— = 48 = ,10 04 . B L — - .88 = .08 -~ .08 .08 —
8,5 U =1,75 -2.,70 -8,04 -l.42 - 94 -~ .64 25 U =2,428 =2.04 =1 4B - 96 - T4 - .80
L J18 - .02 214 «13 <18 .19 L Q9 «08 «16 -18 «16 .16
3.5 U =148 =2.56 -2,12 <-l.48 -~ .94 -~ 83 5.5 U =2,080 =8.16 =l.48 = .96 ~ T4 - 58
L «24 —— .22 «17 «83 — L «24 ———— <83 17 <8l —
8.0 U | =1,86 =R.42 =2.80 -l.44 - .96 =~ .64 5,0 U | =1,84 -2,20 =1.48 =~ .96 - .74 = B9
B B4 «32 -] 24 24 «l4 L 54 3 «52 25 +85 <15
7«5 T | =1,04 =182 -2,26 «1l.44 - .86 = .64 7.5 U ~l.44 =2.24 =148 = .96 =~ .T& - 59
L —— 39 «26 - 24 «27 24 L — 42 -32 27 28 <24
10,0 T | = .93 <1.,39 ~2.20 =-l.46 - .98 =~ .64 10,0 T | =1.28 =R.35 =l.48 - 86 =~ ,7& = 59
L «33 «40 o200 «35 24 L 4L «40 0% 24 .32 24
15,0 U | = .78 =1,05 -1.99 =1l.46 - .96 - .64 15,0 U ~1.08 =R.2T =1l.48 = 85 = T4 - .59
L | = .04 = ,50 - 07 = .35 - ] L|=~.08 - .94 o2 05 - . - <26
17.5 T | = T4 == — — — — I7.8 U | ~ 88  wem= — — —— —
L {| = o852 ~w- —— — — — L|~.90 =e — — —— ———
WING wIna
orifice Orifice
Location
Perocsnt
D B
5,0 U U
6,0 T T
L L
7.5 U ')
L L
10,0 U g
L L
12.5 U T
15,0 U U
17.6 U T
20,0 U L
L L
30,0 T o
L L
40,0 U T
L L
50,0 U T
L L
60,0 U U
L L
70,0 U —— - .68 =~ ,60 - B0 — - JB1 700 U - .72 = .80 - .78 -
L —— .28 22 «16 06 =~ 03 L 30 «26 10 -
75.0 U — — - = 48 - 55 - 88 73.0 T — —_— — = .64 = .58 - .51
80,0 T —— ~ T8 = B0 = 57 - 42 = «81 80,0 U — - oTE = 54 = 76 -~ 58 - 6B
L — +10 = .10 08 - 19 = ,09 L —— «13 = .05 A8 - .85 - ,08
88,0 U | w~-a -~ 50 - .38 - B0 85,0 U — - L = 84 - B4
L — 04 - .05 - .10 L — .06 - 08 - .12
80,0 U ——— - B4 = .32 - 47 90.0 T — - a - Tl = T4 = 54
) A —— o - 04 = 14 L —— 08 = 11 = 1B
5.0 U — — = G RT = AT 895.0 U — - = 88 -~ B4
L -—— Of = 06 - 18 L -— L6 - .19 - .80
FORE FLAP MATE FLAP PORE FLAP MATN FLAP
Oririce orifice Orifice Orifice
Location| STATIONS Location STATIORB Locatlion STATIONS Location STATIORS
Parcent Percent Percent Percent
Chord A B Chord i B Ohord A B Chord A B
[+ =1.,18 «=0,62 76,0 -0.18 0,11 o -1.08 -0.82 T6.0 ~0,15 O.14
1.0 T =2,66 <1.50 78.26 T — — 1.0 U] -2.34 =1,51 76,28 U — —
L 36 o14 L[ == = .28 L «36 24 L| =-—— - .20
2.0 U 2,32 -1.29 8.6 U | = .48 «13 2,06 T | -g.,12 =-1.38 TS U « 42 26
L 48 &8 L R - 10 L «AT -1l L a2 - 07
3.0 U -2,08 =1,00 76,0 U |- .62 =~ ,79 3,0 T =l.86 =1l,14 76,0 T| - .58 - .80
L «45 08 L «40 «10 L 44 14 L «40 13
4,0 T | =1.,47 -~ .80 T7E U |=1l,00 - .62 4,0 T} =1.J4 = .84 775 U] =1,07 - .69
L - - L 40 o L 39 = L «48 .32
5.0 T | ~L,23 = .76 80,0 U |~ ,78 — 5.0 U | -1,04 = .76 80,0 T| «~ .80 ——
L «30 «03 L B «3E L 32 .08 L «48 o3
6.0 T = +83 1 2.5 U]~ .58 — 6.0 T | = .78 «1l8 B2.56 TU| - .&0 —
L m——— = S04 L «46 «S7 L — - 401 L k4 «40
85.0 U 85,0 U| - .61 - .26
L L it 37
80,0 U 80,0 U| - 38 = ,16
L L «40 <52
&0 U 95,0 Ul - .24 - .02
L Ll 30 .30
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TABLE VII.- CONCLUDED

BLAT a S BR.4 BIAY < g7.4
orifica Orifice
Location STATIONS Locatlon STATIONS
Paroant Percent
Chord I A B ¢ D E chord I A B [+] D E
+] -18.% =1.98 =-1,18 ~0.7¢ =0.52 =0.40
0.86 U Q.98 T |=12.5 =1,76 ~l.,08 = 76 = 49 -,
L L «7.66 ~2,16 ~1.,34 = 88 = .54 —-—
0.6 U 0.6 T — “l.7l ~L.08 = T& = 48 - 57
L L w4 74 <168 - 96 ~ TO = ,48 = .80
1.0 U 1.0 U | -6,66 —— #loQB = JTL = AT = 57
L L -2.,19 m—— - df = 20 « 08 « 0%
1.6 © 1.5 U | -8.22 -l.66 — - 470 = AT - .37
L L —— - 58 ~ ,18 -~ ,08 o1l —
8.8 U 89 - ,58 - .42 2.8 U | <Bed2 =Ll,84 -1l.04 = 70 = 47 - .57
L . +16 .18 L <18 «19
5.6 U ~ .88 = 68 = .42 .6 T - AT = 37
L 15 20 = L N
6.0 U - .88 = 58 - .42 8.0 U = AT = 37
L .28 27 17 L «30 «20
T8 U - 88 ~ .58 - .44 7.5 U = AT = 37
L .89 «30 -89 L 34 31
10.0 U - .88 ~ BAa - .44 10.0 U - A7 = .37
L .86 «54 28 L 58 «31
18.0 T « 88 = B0 - .44 18,0 U -~ 48 - .38
L - .08 - .12 - .18 L - 04 = 22
17.5 © — -— —— 17.5 T — —
L — — — L — ——
WING WIKG
orifice oriflce
Loostion BTATIONS Looation STATIONS
Percent Percent
Chord I A B Q D E Chord I A B 4] D x
5.0 U 6.0 T
6.0 U 6,0 T
L L
7.8 U 7.6 U
L L
10,0 U 10,0 U
L L
12.5 U 12,8 T
18.0 U 15,0 U
17.8 T 7.8 U
80.0 T 20,0 T
L L
0.0 U 0,0 U
L L
40,0 U 40,0 T
L L
50,0 U 80,0 U
L L
60.0 U 80,0 U
L 28 L
70.0 U ——— - W78 =lO4 =~ 73 - - B0 70,0 U
L — -4 .28 08 03 - JOf L
75.0 T — — ——— = ,76 =~ ,80 = .58 73.0 T
80,0 U — = JTE = 69 = TA - ,64 - B8 80.0 U
L —-— 7= 07 = 87 - 08 P L
as,0 U — -T2 = J76 - 59 88.0 U
L — W06 - 22 - .10 L
80,0 T -— - W76 = 98 = .00 90,0 U
L - 08 - 18 - 14 L
5.0 U — T - ~LeR0 =~ &0 86,0 U
L -—— © W06 - 26 - 20 L
FORE FLAP MAIX PIAP FORE PLAFP MAIN PEAP
Orifioce orifice Orifice Orifice
Looation STATIONB Location ATATIONY Location STATIORS Laoation STATIONS
Percent Peroent FPercent Parcent
Chord A B Ohord A B Chord A B Chord 4 B
0 -0,80 =0.68 78.0 =0.08 0,14 ] =0,95 =-0.98 «Q =0,13  0.14
1.0 U | -1.88 -~1.09 TE.26 U | rem  ae 1,0 U | -2.04 -2.30 75.28 U| == —
L .40 «08 L| ==w = ,18 L e «27 L] wm= = 28
2,0 T -1.74 =1.01 5.5 U 57 .18 2,0 U] 1,76 =1,13 T6,6 U = .43 14
L 49 «10 L 8 - 03 L «48 «18 L 4 - 14
5.0 U | -1.62 =~ .84 76,0 U|~- .63 - .66 5,0 U | =%,53 -1,12 76.0 U|= .80 - ,90
L oA 10 L 3] .16 L 4 15 L 0 10
4,0 U | -1,11 - .67 TP U{-1.04 = 55 4.0 U] -1.16 -1,07 T7.6 U|-l.12 - .86
L 40 —— L «51 -30 L « 40 ——— L 80 .
5,0 T | = .80 =- .60 80,0 U] - 74 -== 80 U[ - .96 - (98 80,0 Tl = 81 wmm
L . +} L - «38 L 52 «06 L «50 54
6.0 T - 70 18 82.5 U= .87 ——— 6,0 U{ - .78 A2 82,5 U~ .64 ——
L = = 04 L «49 39 L — - 02 L «40 230
86,0 U~ .50 =~ .30 86,0 U| - ,56 -,
L T 5B L «48 34
0.0 U |~ .40 - .26 P00 U= 48 = .48
L 4 89 L 43 28
95,0 U= 26 ~ .18 P6.0 U - 54 -~ .50
L «35 .28 L 34 24




t—-—525--’—

NACA 644 010 seclion normal 75 chord
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Figure |—Geometric characteristics of the 60° swept-back semispon wing and fuselage.
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Figure 2.—Details of the leading~edge slats.
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Figure 3.—Details of the double~sloited flap.
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Figure 5.— The semlspan model of the 60° swept-back wing installed in the Ames 40— by 80-Foot
wind tunnel.
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siotted flaps for various flap deflections. R=80 x 10°.

BHIVESY W YOVN

£h




(4
‘& et = lhﬁﬁ%ﬁ% L~0On
-z ~ SR
g'Lo s %3\:\
) 2 ‘ NNRR B
% A : Symbol ~ Aijeron deflection, ol N SBeN
.g .8 - Jd DR A\)\: \)J 1}}/5
NS -—(Figure 8) ©O° = = {
- 6‘ — ) " A »-
§ . -G 5 - il /
w4 o fo* ?{‘ 4 o A
w g5 . ;
Ni B 5 | b | s J14q
- 25° Ji / ) /A i
2 - 40° 7 i
B 25° 7 ¢
0 . e 7 4
_ s T
0o 4 2 3 a4 5 6 2 08 04 0 -04 -08 =/2 =16 =20 =24

Drag coefficient, G,

-8 ~4 0 4 8 2 /6 20 24 28

Angle of attack, a, deg

Pitching-moment coefficient, G,
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